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PART -1/ ¥IFT - 1
CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.

A& : frefafiaa g9 (7. 9@ 1 @ 30) 3 ST &7 & 1070 Qe/qad 39ga [aeheyq giagi

1.  Assertion (A) : Teachers should respect the individual differences among learners and adapt

their teaching to cater to needs of all students.

Reason (R) : Collaborations, group works and interactions among students should be avoided

while teaching a class of diverse learners.

Choose the correct option.

(1)
(2)
€)
4)

(A) is true but (R) is false.

Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A) . Torershi o1 frenfl & <= sfadma fa=rarsti o gmm s =ifen sik gt frenfof =t

STETITRAISA! o STTAR 379 TI&701 i THEISG T A6y |

HIUT (R) : foreent =1 fafay geeyfn & e =1 9o v, 3% = wedm, 99g #r IR

IraeEd 9 9 AfEu |

et fashed I |

1)
(2)
®)
(4)

(A) T § A (R) TTord 1

3R (R) THT TTed B |

3R (R) ST T2 ¥ IR (A) T (R) T AT H 7 |

3R (R) SFi U@t € @feh (A) T (R) Tl A1 -1&l il § |

(A

)
)
(A)
)

(A

2. A key commonality in Piaget and Vygotsky’s theories is :

(1
(2

(

)
)
3)
4)

Involvement and engagement of children in their own learning.
The role of culture in the cognitive processes.
Their views of relationship between language and thought.

Focus on stage-like progression in children’s development.

st 3R iRt o fagidl o T T 9§

1
2

1)
(2)
()
4)

P-11 (|l

=41 & @ &1 e ¥ Hera oIk Jea |
G Gfshanstl H T&Rid s fieh |

o1 AR foeR & o Heiei & aR § 3 fa |
sredl o fashma B =o-SiEt Jfd W e |
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3.  Which of the following correctly describes “culturally responsive teaching’ to cater to diverse groups
of students ?

(i) Intentional (i) Adaptive (i) Differentiated (iv) Standardized
O 6 6@ 6@ @ 6, 6w 6 0w () (i) (i)
BEI o fafay TEl &l 90 & & fau fHefafed § 9 o1 wiesfas €9 9 STert fago’ 1 9@ avF
A7 ?
@ g (H) TRl (i) fadfed (iv) HFRTFHd
O 0 6@ @ @ 66w 6 0w (@) (i) (i)
4.  According to Jean Piaget how are children different from adults ?

(1) Children’s thinking is qualitatively different from that of adults.
(2)  Children’s thinking is quantitatively different from that of adults.
(3)  Children are dependent on adults while adults are independent.
(4) Adults are much more knowledgeable than children.

ST TS & STIAR o= gawehi | forg yehr = €2

(1) =3l ! 9= TI&hI 9 ToMcHE &9 9 9 2t 7|
(2) Sdl i G A €9 9 995k 9 9 S ©
(3) w=d FEEhl R R B € Sl o wis B g
(4) <=dl S qAT H %R 9gd A F 8N R |
5.  You are a teacher who wants to help your students develop metacognitive skills. Which of the

following strategies is most likely to foster this type of thinking ?

(1) Providing students with summarised notes for assignments.

(2) Assigning homework that requires memorization and recall.

(3) Giving students marks instead of qualitative feedback on their performance.

(4) Encouraging students to reflect on their own learning and thinking processes.

319 T 187k & S 2799 B ol WEIMHS vl faehiad 9 H Aee &l 9rd & | Fefafed § 9
A Ht T0FEIT 39 YRR o Toa ol e o T qey S1fie e § 2

(1) foenffi = it & & fau arifia Sieg gem & |

2) TEHE Wi e faT A W@ SR AR T At STkl Bl § |

(3) BTHl I 3Tk YSIA W [UMcHS FfTYfie & = 37 o1 |

(4) BTE HI T @ @A AR Gred At GiRa T =R w3 o fau diedted S|
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6.  According to Lev Vygotsky what is the relationship between language and thought ?
(1) Language and thought are independent of each other
(2) Language and thought are complex interrelated processes of development
(3) Language does not shape thought
(4) Thought shapes language

S AR o STTAR A1 3R for=m & ofte /ey § 2
(1) 91 3R foemR T g @ s ¥ |

(2) e SR foeR T w1 wifea fafsie gfwand €|
(3) W fo=R &l TR T <t T

(4) TEER 9 I SRR <9 ¥

1

4

7. A teacher asks herself - “How can I provide experiences that require students to classify different
types of objects in the environment and analyse their classification schemes ?” Which intelligence
is she trying to promote in students ?

(1) Naturalistic Intelligence (2) Bodily- Kinesthetics Intelligence
(3) Linguistic Intelligence (4) Inter-personal Intelligence

e forferert ge @ gt € - ' H U0 SA9E FY UG R Fehdl § fr9H Bl bl wateRer § 9= yeR
X3l I FMRd hi TR ITen! AITHRIU o ThIFT 1 TATAT LA i STEvTRd ol 2’ 98 SE1 H fohd
SfGHT ! TGET < hi I F T T 2

(1)  Yrehfaes g (2) TRIREH-TiqEeE! fgH
(3) W gfgHa (4) SAqdafers g
8. Feedback to the students in a classroom is most effective when :

(1) It focuses on what the child cannot do rather than what they can do.
(2) It centres around tests and exams at the end of the year.
(8) It assigns comparative ranks to the students.

(4) It occurs during as well as after the learning activity.

Bl o forw smen o fafsean god s1feres guret Bidt § Se-

(1) ¥ 9 91 W M higd I ¢ foh T=a1 F1 T HT Hehdl ISF $Hh foh I8 T FHY Hohell © |
(2) T Td * id | wieor SR wlen W Higd ¥

(3) I% BTHI I FaTHS JUN YSH HIAT ¥ |

(4) I Frad I Tifafafy & SR SR TveE of B R

1
2

4
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9. Rama is a teacher who is implementing Vygotsky’s theory in her classroom and she assigns her
students to work in groups to complete a challenging task. During the task, one student struggles
to understand a key concept. What would be the most effective way for Rama to help this
student ?

(1) Assign a different task to the student that is better suited to her abilities.

(2) Work through the problem with the student and providing guidance and feedback as needed
while involving other group members.

(38) Provide the student with the answer to the problem so the group can move on.
(4) Encourage the student to try to solve the problem on her own.

T U Torferent & ST Srericeh! % Tagid 1 STaA el B o] R W ¥ SR I Tk AUl S R I w

% foTq 7o B 1 TRl | o A % T s el 81 o SR, Tk BT T Weeeol Hehedl s

T & foTT Foe a1 B 1 1 o U 59 BT i AGE L 1 T YA TIhT 41 BT 2

(1) T &I T 3T S FiY S SHb! AT F STHA 2 |

(2) BT % WY THET T A H IR TE % 7T WSl hl IMHA hid U STERTRATIR ARG 3R
gfagfte gam |

(3) BTH %l THE FHI I YSH H{ dqllh TS 3 ¢ e |

(4) S ! HHET ] T A H H1 A LA o T Grediied i |

10. Change and stability in emotions, personality and social relationships together constitute :

(1) Psychosocial development (2) Cognitive development
(3) Personality development (4) Emotional development
qrereTi, aferde TR Srfsres el § gftady iR feerarn fog fowm o wite €2
(1) FAEEISeh faehrd (2) EAMTHS TR
(3) Africa forenmd (4) oA forehT
11. Constructivist teaching leads to learning by students.
(1) rote (2) receptive (3) discovery (4) meaningless
TeaTar fRreror farenfef=i =i A T AR W S R
(1) e (2) TEURME (3) wre-emuia  (4) e

12. In progressive education children are perceived as :

(1) Knowledgeable and meaning-makers

(2) Vulnerable and in need of protection

(3) Innocent and dependent

(4) Compliant and capable of only consuming knowledge
TRt T # srea 1 fohe aee S S § 2

(1) THad® IR 27¢f &t A HE e

(2) HESIR 3R &N ! Sea |

(3) A AR ewfaa

(4) SRR 3R hadl JH 1 ST HH § F&H
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13.

14.

15.

Jean Piaget’s theory of cognitive development implicates that :

(1) Curriculum should be designed keeping children’s age-group and stage in mind.

(2) Focus of teaching should be the outcome of the activity instead of the process of thinking.
(3)  Behaviour should be conditioned using rewards and punishments.

(4) Concepts should be taught in a sequence of complex to simple.

i et & wemTes fasw 1 fasia o o € f

(1) UISIKH <l sr=dl o STY-FHE & I hl &4 H TR daR foran S =nfeu |
(2) Toeron w1 5@ Tfafafy & aRom W 91 =ifeT 7 fo dem &1 gk W

(3) HIRR I T8 AR ERRI o HIEAH 9 STIRfad fohal ST =Mfed |

(4) STEURUNE ol Sifed ¥ WX o A § fa@mrn s =ifew |

How does setting mastery goals impact a student’s motivation and views of ability ?

(1) It often implies enhanced extrinsic motivation and belief in the entity view of ability.

(2) It often implies enhanced extrinsic motivation and belief in the incremental view of ability.
(8) It often implies enhanced intrinsic motivation and belief in the entity view of ability.

(4) It often implies enhanced intrinsic motivation and belief in the incremental view of ability.

TERA B i & @8 FUifa & | B &1 ARYON 3R Jrad & 9R § fgar 9 gafad 2 § 2
(1) I8 TR Irar o feer gfteenior § 9@ g8 aedt SAfvon iR foavams =1 gwian g1

(2) IT ST IR % FlG¥e gfeeehnivr H 9 g8 ared IR iR fowars =i <wian § 1

(3) I% TR ArIar  feer gftenion # a¢t g8 ofiafa IR iR faverw 1 quiar T

(4) IT STFR Al % gigEie gheswon # ae g8 stiaftes stiydron R favara =i gwiar § 1

Assertion (A) : During adolescence the pressures to conform to gender expectations and follow
conventions of feminity or masculinity increases.

Reason (R) : Gender and gender roles are determined biologically.

Choose the correct option.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A):  FoReiRTeRen % SR Siet eTdemsti o 3TIEY S A1 Jeue i WISt 1 Ire & &
T <omg 9 S g |

T (R) : Siet 3R Sfex i Sifasw &9 § fuifta =t st §)

e fased T |

(1) (A) 92 § AfhA (R) To@ B

(2) (A) 3R (R) ST Terd |

()  (A) 3R (R) I &I € 31X (A) T (R) HeEl AT T ¢ |

(4) (A) 3R (R) I & € Al (A) T (R) Tt =T & B 7

P-XT {IIEART TR nm 6 K



16. Assertion (A) : Teachers should encourage debates, discussions and collaborations among
students.

Reason (R) : Knowledge production is an inactive process and engagement in group activities
hinders meaningful learning.

Choose the correct option.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

afieRer (A) :  Torershl ot foenfal & sitw sew, ==t IR e 1 Weafed s =nfeu |

HIT (R) : T 3R Tk Ffsha afsran © IR amfess wifafafeat o derar stefqul siferm & aren
TAd B

e fased T4 |

(1) (A) 5@ & Wl (R) Terd €|

2)  (A) 3R (R) ST Tora |

(3) (A) 3R (R) I T&I € 31X (A) T (R) HeE AT Ll € |

(4) (A) 3R (R) ST =& T Al (A) T (R) Tt =1 Tl B

17. Which of the following hinders the participation of students with visual impairment in
classroom ?

(1) raised-line drawings and maps

(2) tactile models of graphic materials

(3) electronically formatted lecture transcriptions
(4) printed textbooks and notes

frrefafiea § 9 o gftestua fomnfef= &1 wen § 9rierl o o s1en Srerd § 2
(1) 398 g @ ot iR wAfee
(2) ftReh TR o TR TR

(3) SolRIe ®U H YREUd A et

(4) Hfcd weUgwh AR Aicd

P-IT {IEART A nm 7 K



18.

19.

20.

Which of the following is a correctly matched pair ?
(1) Formative assessment : determining what the students can do before and after the class

(2) Summative assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

(8)  Criterion - referenced assessment : includes mastery of specific topics

(4) Norm - references assessment : compares performance to that of peers
frefafead § @ sF-o1 get gafed 3m €2

(1) TEARES qeaish : a8 T e i B el ¥ Tt iR og o o1 R |ehdt

(2) ArTcHR Yodish : 3T TuR-UfEe e % wre-wr R-fafea seerl % fawga faawe wita §
() WHcS-Hefid geaie : fafire fawei wi Hera wite €

(4) AFSH-HHHT TediR ; T % YU I T BT §

1

4

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between :

(1) heredity and environment (2) gender identity and genetic make-up

(38) growth and maturation (4) nutrition and discipline

AT, T 12 T e, Toie Hificier &t Tt &1 36k Arar-dr, <M1 & F7g0r e €, 8iR o gt
1 ST STATS I TR S A o forw Ffreror el § 991 1§ § 1 Gl i I &wan Henfod €9 9 ford
! o 3. foa 1 aftom 82

(1) el iR aramE (2) <ifiTeh TEAN AR SAIEfS e

() dfs 3R FRueaa (4) Hrour AR SRR

Which method did Lawrence Kohlberg used to study moral development of children ?
(1) Conducting observations of children during play

(2) Experimental method

(3) Quantitative research approach

(

4) Posing moral dilemmas to children and analyzing responses

ANY higA o oT=dl o Hfdeh fIhTd 1 ALTIT L & foru fome fafy =1 w3 e ?

(1) T % SR Tl H ST BT

(2) YRR fafy

(3) HETES WY wE fafy

(4) F=a % " Afae gfaemd W oiR sl i SHeeA S

P-XT {IIEART TR nm 8 K



21.

22.

23.

Assertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) : Learning is tightly sequential and hierarchical.

Choose the correct option.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A) :  THall DI ST T o iR 1 AT AR S TR ScTE SR e & aRomEi 6 STher

EaGES
HIT (R) : GG ek AR TR STk TR Teshiad 21
e fased T4 |
(1) (A) WEl € feh (R) TTerd 2 |

2)  (A) 3R (R) ST Tora ¥ |
(3)  (A) 3R (R) IHI T2 § IR (A) i (R) T AT Hl |
4) (A) 3R (R) SF Tt € Afeh (A) T (R) T ==& =& et

Which of the following statement is correct about “‘Autism” ?
(1) Autism is caused solely by environmental factors.

(2)  Autism can be cured and improves with age.

(3) All autistic people have at least one exceptional skill.

(4) Autism is a neuro-developmental disorder.

frefafed § § SH-91 o9 Setdr’ & Fed § 98 8 ?

(1) TIAaT el ATAERYITH HRehi o HRUT Bl T |

(2) TSI ST SETS {1 ST Tehdl §; SH o W1 THH GUR S ¢

(3) T STl Gt S § FH-H-H T a9 et g ¥

(4) TEEH T Al fasmmas fasr g

Which learning strategy involves children teaching others what they have learned ?
(1) Expository teaching (2) Reciprocal teaching

(3) Conditioned learning (4) Rote learning

o aferma it Torifa ® S g e 1 faer e € S s e § 2

(1) A e (2) UREaReR e

(3) erge sAferm (4) e W

P-IT {IEART A nm 9 K



24. Sensitive periods are those time periods during which certain are especially important
for course of ‘normal” development.

(1) environmental factors (2) hereditary factors

(38) genetic predispositions (4) ethnic factors

GogmRitet o7aftr o g9 erafy Bt ¥ 99 SRE 39 o ®9 ¥ ‘gm’ fawE & fau
HEETYU Bl € |

(1) YA R (2) STA R

(3) STfHHh HRh (4) SIS R

25. Students struggling with dyslexia can be taught to read :
(1) By giving long and complex passages.

(2) Through association method of conditioning.
(3) Through systematic phonological training.
(4) By providing higher grade level reading texts.

ST Sohed W g W BTl Rl U o S Hehdl ¥
(1) o9 AR SAfeat Ty T |
2)  TJha ki sTIaYA fafy & wieam 9

(
(3) Al LT Ui & HieAH 9|
(

4) 3I=9 U W & YT TY YSH Hih |

26.  Which of the following question promotes analytical thinking ?

(1) What is the total population of India ?

(2) What are the various causes of increase of population in India ?
(38) The capital city of India is
(

4) How many States are there in India ?

=1 8 @ = a1 wea favermes fedas it agen Sa § 2
(1) 9Rd &t F SHE fha €2

(2) 9Ra # SEeEn g % fafe= sro Fn g2

(3) YRA T TSHM L

(4) 9a H frar €2

P-XT {IIEART TR nm 10 K



27.

28.

Assertion (A) : Teachers should give lot of opportunities to children for experimentation and
discuss examples and non-examples.

Reason (R) : A constructive way of dealing with misconceptions in children is to provide
counter examples.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

ANTRIT (A) :  Tonereni 1 ==t 1 WA % I Slgd TR STER 31 =1fe IR SRl 3R TR-Semeol W
<= ! e |

SIUT (R) : Sl | TTed gRONS! ¥ 92 1 Tk ToTHe aliehl fauRid 3Sil 9aH S T
Tl fashed I |

(1) (A) 5 T &fsh (R) TeTd T

2)  (A) 3R (R) ST Tora |

3) (A) 3R (R) I T T IR (A) = (R) T AT HIdl |

(4) (A) 3R (R) I =& T AAfh (A) T (R) Tt 1A T B

Assertion (A) : In Asian cultures which stress social harmony, expressions of ‘anger’ are
discouraged and ‘shame’ is encouraged.

Reason (R) : Emotions are subjective and do not play any role in learning.

Choose the correct option.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

AR (A) :  TRTEE TSRl § S AT TG W SR od &, ‘e’ &t stfeafa 1 garied
fopan < € ¥R ‘v’ Rl Yietfea foan s €1

HIT (R) : Y AT § 31X Wi § i firsht T fomedt § |

Tl fashed I |

1) (A) T T AfHA (R) TTerd 71

2)  (A) 3R (R) ST Tord ¥ |

(3) (A) 3R (R) I T&I € 31X (A) = (R) HEl AT Ll < |

(4) (A) 3R (R) ST =& T Al (A) T (R) T = T B

P-IT {IEART A nm 1 K



29. In order to develop critical thinking among students a teacher should :
(1) give questions that involve inferences and explanations.
(2) avoid questions which need inference and analysis.
(3) ask only those questions which carry single answers.

(4) discourage the students from asking doubts and questions.

forenferi o TaeaATHs foaq i fasfaa = & fau, u fees =i :

(1) TG Hare 37 =ifen 58 frehd R = wiae 80 € |

(2) Y FamEl § F=1 =g S foerem R fower &t stawaehdl it ¢ |

(3) Had VW & FaTe I =1 fSeh U & IR A |

(4) foenfei w1 3k Heg SR WaTe IEA o foTu gdicTied T =T |

30. Inclusive classrooms :
(1) Are meant to offer differentiated instructions as per individual differences.
(2) Aim to remove all kinds of differences among the children.
(8)  Recognize that every child will learn at the same rate and at the same time.

(4) Is an educational program offered to cater to the needs of “special children’.
ERIEKIETICI
(1) Te-31a fsmel & saR fadfe e fou i ¥

(2) o=l % " ) TWE h Al B g HH A AL Tt

(3) ! TEAHAT IS foh o o= U & X W IR we & wHa § Ham

(4) T ‘TR sl B ST Bl QU A & T Tk 1o Hfersh wrisRH U TR S

P-XT {IIEART TR nm 12



Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gitgnfefat &t w9731 @90 AT Gt 9T - 11 ( T F G717 ) ar 4T - 111 ( QrEfSas 37997 / Qs
faarT) @ & &

IMPORTANT | Hgeaqyof

PART - Il / YT - 1l
MATHEMATICS AND SCIENCE / o1 9 fasm=

Direction : Answer the following questions by selecting the correct/most appropriate options.

[T : fA=fciad T @ W &7 & [T Qgl/aad 39ga faeeq g/

31.

32.

A teacher distributes different types of triangle shaped paper cuttings to the learners and tells
them to measure and tabulate the angles in order to find the sum of angles. He tells them to note
the result in each case.

This method of teaching is an example of :
(1) Deductive method (2) Analytical approach
(3) Discovery method (4) Teacher centered approach

e frerer foanfefai 1 fafa= yoR & ISR st 6t S fodfid s © iR 3= HI00 61 a0 J
F & g il ot Ao 3R Roterg A % foIT Fear €1 9% 3 yosk gRfefy § aftom e e %
fere e

foreqor =0t g fafy HT T SRR T
(1) TS fafy (2) foverooTE® AT
(3) @ fafy (4) Toeer hfsd sarH

The number of faces (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively.
Then, the value of (2F +3E—4x) is :

1) 18 Q) 17 3) 20 4) 19

ferdlt sigheteht o Hetshi (F), TRl (E) TR el (V) & 9@ad svaen: 7,15 3R x €1 6, (2F +3E — 4x)
FAAT

1) 18 @) 17 3) 20 4) 19

SPACE FOR ROUGH WORK / 7% &Td & feg swg
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33. Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is :
(1) 5.5 (2) 6.0 3) 4.5 4) 5.0
fordt e & Fo foanfoRll gr1 U i 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 3R 35 T
T Sffhel & e 3R aRER &l IR T
(1) 5.5 (2) 6.0 3) 4.5 4) 5.0

34. If (2x+5y)?>—5(2x+5y) — 14 = (2x +5y + p)(2x + 5y + q), then the value of (p+q) is :
1 9 2 -5 @ 7 4) -14
Mg (2x +5y)2 —5(2x +5y) —14 = (2x +5y + p)x +5y+q) T, @ (p+q) F AF ¥ :
1 9 2 -5 @ 7 4) -14

35. A trader buys 12 fans for X 24,000. He marks each fan at 25% above the cost price. If he sells all
fans by giving 10% discount on the marked price, then his overall profit (in ) is :

(1) 3200 (2) 3500 (3) 2700 (4) 3000

T AR 12 96 ¥ 24,000 H SIS 81 98 TAh GG Tl 36K haqed ¥ 25% 3Tk W 3iferd ha 7 |
Ifs o |t 9@ I 10% i B IHL o9 a1 8, 0 Hol et sqh1 o (X H) ¢

(1) 3200 2) 3500 (3) 2700 (4) 3000

(@a—b+c? —(@—-b—0)?

36. is equal to :
b—a
(1) —4c (2 2c B) b-c (4) c—a
@—b+o’ —@-b-0o os.
b—a ’
(1) —4c (2 2c B) b-c (4) c—a

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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37. Which of the following is NOT true ?
(1) The expression (x2+10x +25) cannot be simplified further

(2) The value of the variable in an equation which satisfy the equation is called a solution of the
equation

(3) 3+4x5 is not a mathematical expression
(4) Operations of multiplication can be done on mathematical expressions

frefafed § & &1 @ 9 T& T2

(1) = (x2+10x +25) I IR 37fersh Wt & feman =1 Thell ©

(2) THIHO § =R H1 I TH S GHIH BT W FIAT ¢, THIHOT H gl Heamd §
(3) 3+4x5 Tk TG el & ©

(4) TOF ot GiRATE IO SHSTeRl TR Y ST Hehdlt §

38. The domain of learning that deals with attitudes and values is known as :

(1) Affective domain (2) Psychomotor domain

(3) Knowledge domain (4) Cognitive domain

ST 1 95 &9 S o eRR T qodl o 1Y Gayd § 39 % & H ST S 2|
(1) mERTs & (2) HA-TEAREER &

(3) A& (4) GIHRHE &

39. According to National Curriculum Framework 2005 which of the following process is least
important in mathematics ?

(1) Finding short-cuts in mathematics.

(2) Generalizing a mathematical formula.

(3) Solving day to day problems.

(4) Understanding when and how a mathematical technique is to be used.

T UIea=dl ®0@ 2005 & AR F=fafed § 9 & d gfshan 1o o 9o 9 el § ?
(1) I | Wéehe @ISl |

(2)  TIIUTT 3 o1 H=ARTT |

(@) fe ufdafes =t wrenet i1 qaEE HE

(4) @8 ! fob T qeheieh ol SUANT hal 3R hd foham ST Tehal

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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40.

41.

42,

M is a point on side AB of a triangle ABC such that AM=BM=CM. If angles A and B are
respectively x and 70°, then the value of (3x +25°) is equal to :

1)  100° @) 115° 3) 70° (4) 85°

et IS ABC &1 o1 AB W M U foig 30 YR feoa € fF AM=BM=CM ¥ af =i A iR B
HE: x 3R 70° T, A (3x +25°) H HF TR T :

(1) 100° 2) 115° (3) 70° (4) 85°

The sum of the largest and smallest fractions among g, 2%, % and 2% is :

7 39 9 37
1 23 2 25 @) 235 @ 25

A g 2%, g v z% 3 ol ) SR T B e A g

The ratio of two numbers is 3 : 7 and their LCM is 630. Then, sum of the LCM and HCF of these
numbers is :

1) 600 2) 660 (3) 30 (4) 300
<1 Hesil w1 ST 3 : 7 § 91 9 LCM =630 1 Td, 37 @&sil o LCM 3R HCF &1 I © :

(1) 600 2) 660 3) 30 (4) 300

SPACE FOR ROUGH WORK / 7% & & fag wig
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43.

44.

45.

46.

Area of a right triangle is 240 cm?. If its one side other than the hypotenuse is 30 cm, then perimeter
(in cm) of the triangle is :

1) 92 2) 100 3) 80 (4) 84

TRl TueRIor 19T 1 &%a 240 cm? B AfE H01 & Afafiad STt Th YT 30 cm €, @ 39 B 1
7™ (em #) ¥

1) 92 ) 100 3) 80 (4) 84

A sum invested at 10% p.a. for 2 years becomes < 3,267, when the interest is compounded annually.
What will be the simple interest on the same sum at the same rate in 2% years ?

(1) R 675 (2) R 700 (3) 625 (4) 650

10% =1ftish <X W ferer il 78 W et 2 o H % 3,267 1 WA €, Sl <Al ik Feford S €1 3§
e Tl T F 2 A e et S €2

(1) T 675 ) 700 3) %625 4) T 650

How many natural numbers between 1 and 500 are divisible by each of the numbers 3, 5 and 7 ?

1 5 2 6 G 3 (4) 4
1 &R 500 & s TE foha Wrhd S €, <t Gemsdi 3,5 iR 7 § 9y § fauss €2
1 5 2 6 G 3 (4) 4

Two parallel lines are intersected by a transversal and the two interior angles so formed on the
same side of the transversal are (2x +15°) and (3x —20°). Then, the value of (4x +6°) is :

(1) 148° 2) 146° (3) 154° (4) 150°

& T W@ <1 g X@st a1 Jfqwdg it © a1 39 YR fade 1@ & U & 3R a1 1 Sfa: i
(2x+15°) 3R 3x—20°) ¥ 9, (4x+6°) HIAF T :

(1) 148° ) 146° (3) 154° (4) 150°

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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47.

48.

In a pie chart, the marks obtained by a student in Mathematics, Science, Social Science, Hindi and
English are respectively represented by sectors of central angles 90°, 80°, 65°, 75° and 50°. If the
total marks obtained by the students were 540, then what is the difference of the marks obtained
by him/her in Mathematics and English ?

(1) 40 2) 30 (3) 60 4) 50

T I8 =1 |, Tt fornelt gry wfvra, fagm, wmfsres fagm, fet ok 3fish & ure 29eni =l sHH9T: 90°, 80°,
65°, 75° 3R 50° & H=g HIoN aret T wel gri fefya foean 1 afe su faenedf g/ wra Fa s 540
9 1 SHh g TOId 3TR SUSH | Ut 7ehi b1 3R 1 © ?

(1) 40 2) 30 (3) 60 4) 50

Which of the following does not imply the meaning of assessment ?
(1) It helps to diagnose individual differences.

(2) Itis a procedure to gather information of student’s performance.
(3) Itis evaluation.

(4) It helps to label the students.

fr=fafaa o 9 a1 e & 21 =l T&@ 9y ?

(1) Ie AfFmd fu=rarsti &1 fem w1 § wee S T

(2) e fomneft % Ui W STHHRI THIAT FH 1 Teh GH 7 |

(3) ¥ HeAH 2|

(4) = fomnfef 1 Trmifera A o FemEdT A S

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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49.

50.

Arrange the following statements according to ascending levels of geometrical thinking as per
Van-Hiele’s theory of geometrical learning.

(a) Identification of properties of geometrical shapes

(b) Classification of different shapes

(c) Finding relationship between the properties of geometrical shapes
(d) Identification of geometrical shapes as they are

Choose the correct option :

1 (@), (©), (b), (a) 2 (@), (©), (b) (d)

(3) (@, (b), (c) (d) @) (d), (b), (@), ()

9 T & S tferm % fagia & TTUR frefafed weFi sl senfida 9re o ST TRl | sxafkerd
SHifSTT |

(a) SAHA STRITET < O i Tg==

(b) Tafs= sRfaal w1 afieRton

() SOfEea TeRfa=l o T & i Helel g
(d) SaHdE STRfa=l i, SiEt 9 ], S5 §9 § g

'{Té\' Ty ?\ﬁ :
(1) (d), (©, (b), (a) (2) (@), (9, (b), (d)
(3)  (a), (b), (c), (d) (4)  (d), (b), (), (c)

PQRS is a parallelogram whose diagonals PR and QS intersect at a point O such that
OP=(x+7) cm, OQ=(x+y) cm, OR=20 cm and OS=16 cm. Then, value of (7y+5) (in cm) is :

1) 26 2) 28 3) 21 4) 23
PQRS Ts FHIR =g ¢, f5aeh fasol PR iR Q5 weR foig O W gfasse w1d €1 afg OP= (x +7) cm,
OQ=(x+y) cm, OR=20 cm A OS=16 cm T, Tl (7y+5) & (cm H) A 7 :
1) 26 2) 28 3) 21 4) 23

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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51.

52.

53.

54.

If x is the least number which must be added to 955 to make it a perfect square, then value of 3x +2
is equal to :

1 11 2 5 (3) 20 (4) 14
g 955 H SISt S Areft x T =IAaH T §, <7 3§ T Yol ot o1 el &, f 3 +2 o1 HH SR ©
1 11 2 5 (3) 20 (4) 14

D is a point on side AB of a AABC such that CD is the bisector of ZACB. If ZA=50°and £B=70°,
then ZADC is equal to :

1 70° 2) 100° (3) 30° (4) 50°

et ys ABC &t 1 AB W feord D W foig 39 WR © foF CD, %101 ACB &1 THfgais g1 afg
ZA=50° 3R /B=70° ¥, A LADC &R T :

1) 70° 2) 100° (3) 30° (4) 50°

At upper primary stage, as per NCERT, which of the following topics have NOT been included
under number system ?

(1) Exponents and Powers (2) Square roots and cube roots

(3) Complex Numbers (4) Fractions

NCERT & SI79R, 3= WeIfHeh TR T, &A1 Jullelt & 3iqia, Hefafead § ¥ sE-§ g afmfad @
fepg T €2

(1) =diss 3R = (2) A R TAHA
(3) wftEg e @) =

Perimeter of a quadrilateral ABCD is 120 cm. If BC=48 cm, CD=17 cm, AD=40 cm and
ZA=/B=90° then area of quadrilateral ABCD (in cm?) is :

(1) 720 (2) 750 (3) 660 4) 690

et Iqdst ABCD &1 9f®T™ 120 cm 1 9 BC=48 cm, CD =17 cm, AD =40 cm T2 ZA = /B =90°
%, @ =qds ABCD &1 &%l (cm2 B) ¥ :

(1) 720 (2) 750 (3) 660 4) 690

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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55. Which of the following statement is least appropriate regarding the proofs in mathematics ?

(1) It can help the students to validate their own reasoning.

(2) Proofs are built on intuitive knowledge and not reasoning.

(3) It explains why a particular mathematical result must be true.

(4) It helps to reveal the connections and provide insights into the underlying structure of

mathematics.
frafafeaa & @ o9 @1 e o § Syt & Geia H qod w1 STgE © 2
(1) =g foenfei=i &1 o1 W& % q I I L H Heg R Fohdl S|
(2) SufEl 1 FHT0 Sfaesita 99 T A € A1 foh ek T
(3) IE A Hl ¢ fob T o wifbrdiiar 9fom g =i g =fee |
(4) € WLl P IR FE H Heg FAr © AR ford s Aafifed dm H siadfe yem s g1

56. Which of the following is NOT an indicator of creativity in Mathematics ?

(1) Students use multiple and alternate problem solving strategies.
(2) Students can pose questions.

(3) Students use convergent thinking in different contexts.

(4) Students are able to think flexibly.

frAfafea § 9 3 7o | ATl S Hohddh el ¢ 2
(1) faenef fafay iR Sehfeas Toen GHEM St HEATTE B STE H |
(2) forneff 7o wEqq X TR B |
(3) faenef fafi= geuf § sfiard foiae &1 Swam #d 1
(4) foenef o=ictt 9 & wam €1
SPACE FOR ROUGH WORK / 7% &Td & el sirg
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57.

58.

5 3
Arun is three years older than Varun. Eight years ago, 5 th of Arun’s age exceeded 5 th of Varun’s

age by 6 years. If the present age of Varun is x years, then the value of x can be determined by
solving the equation :

(1) %(x+5)—%(x—8)=6 ) %(“3)‘2(“8):6
5 3 5 3
() (=5~ Z(x-8=6 @ -8 -zx=5=6

3TE0T, XU F A 9 a1 €| IS T Tee, maﬁmaﬂgﬁ,waﬁm% %aﬁéaﬁeﬂfww
Ifg S Y FAHH T x T §, 9 x HI A T GHIH0T I B HA Y U & bl ©

1) S@+5)-2G-8)=6 @ 3-8 =6
3) g(x—S)—%(x—8)=6 ) g(x‘S)‘g(x‘5)=6

Which of the following statement is NOT correct with respect to Rubrics as a tool of assessment ?
(1) Rubrics consist of a clear performance target for students.
(2) Rubrics make evaluation more subjective.

(3) Rubrics has a fixed scale.

(4) Rubrics has a list of characteristics describing performance for each point on the scale.

freAfafed o 9 S 91 HUA THe & Th HIEF & ® § Bioih & oy Tc & §2
(1) S H fornfeldi & fau T yeui @7 2 S|
(2) Efos Heaihd i Ay Afeaaie s 2|

() fdw #1 T e Yo 2 g

4)

wforh & AN W I fovg T UGE 1 9 T arelt foRreaist s = gl ¢ |

3

4

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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59.

60.

The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base
radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1) The new volume will be thrice the original volume.
(2) The new volume will be one-third the original volume.
(3) The new volume will be twice the original volume.

(4) The new volume will be half the original volume.

Tt Ta e e it S 3R SR 52 ShHeT: 9 cm 3R 6 cm ¥ 1 Afg 3TUR oo emeft o6 < Sy
T S=E | 3 cm I ghg IR < I, @ 79 H T HE-T1 57 S0 & T ST hi AT HAT § 2

(1) 7 ST el STEA 1 fagT & S |
(2) T ST o ST 1 Th-TdelE 2 S |

(3) T ST Hal ST T QAT & ST |

(4) T S A SFTH T LT B S |

The value of 52 X3 +4+ /441 +7X3+5—-32+8 %12 is :

1) 15 @) 21 3) 0 4) 5

52x3+4+ /441 +7x3+5-32+8%12 hl AF @ :

1) 15 @) 21 @) 0 4) 5

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61.

62.

Discussion on socio-scientific issues in class helps in :

(a) developing argumentative skills in learners

(b) developing multiple perspectives on an issue

(c) encouraging citizen science activities

(d) appreciating the role of society in development of science
(1) () and (d) (2)  (b), () and (d)
(3) (b) and (c) 4)  (a) (b) and ()
Hefl H ISR -1 Al sl qRer=l Ferdl Hid © :

(a)  erTER § T e e ) &

(b) el ATl W ag-dRueA &1 fa™ & |

(©) AR faem e A w i w0 3

(d) foIm & oo & 99 &t Jfieh & 78 &l WhR & H
(

(

) (o) ¥R (d) (2)  (b), () &R (d)
3) (b) 3R (o) 4) (@), (b) AR (c)

A) Metal oxides are basic in nature.

B) Air expands on heating.

C) Lime water turns milky on passing carbondioxide.

D) Sodium hydroxide and hydrochloric acid neutralise each other.

If observation is represented by O and inference by I, which of the following statements is correct ?
(1) O0-GI-ABD 2y O-ABI-BC

B O-CD;I-AB 4) O-BGCGI-AD

(A) ®q-STHTES THIT H & 2 € |

(B) =g T B W Hherdt §

(C) e STERATFIEE JAY (BTeH W) HIA TR A 1 I gEran &1 S g1

(D) Hifeam RIS TH TRSIHANNE T Teh GHY %1 SIEH T < & |

3R 37 O g f7&fud  we [ gr s1eamer (Fred) © o fr=fafad § 9 H-31 %o @@ € ?
(1) O0-GI-ABD (20 O-ABI-BC

B O-CD/I-AB 4) O-BGCGI-AD
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1 3
63. An object floats with Zth part of its volume outside the liquid when put in liquid A and Zth part

of its volume outside the liquid when put in liquid B. Which of the following statements is true ?

(1) Density of liquid B is greater than density of liquid A.

(2) The densities of liquid cannot be compared on the basis of above information.
(3) Density of liquid A is greater than density of liquid B.

(4) Both liquids have same density.

wwaﬁWﬁAﬁww%aﬁaﬁa%wmw%% (Teh HTE) 9T & T Rt § qe

3o g9 B H STell ST § I 98 g9 & el 394 3T & % (A =) u % WY T © | Frefatea §

Y HIF 1 FHUT T R ?

(1) %9 B 5, §9 A & = 9 3114 2|

(2) ST I F YR W G % Tl B G Tl ht ST Hehell T |
(3) I A Wl ¥TE, 39 B % A 9 AHF T |

(4) S EAT B HEH T T

64. Which of the following is/are true regarding scientific investigations ?
(@) Results are not influenced by procedure.

(b)  Social context may influence conclusions in any investigation.
(c) Data and evidence are same.
(
(

d) There is no universal scientific method.

1) (a) and (c) (2)  (c) and (d) (3) (a) and (b) (4) (b) and (d)
frafafeaa & @ oF @1/ Ao STTEIH/ 90 & IR | Wt §/€ ?

(a) uRtomm fepan fafy gro wenfaa 2 € €1

(b) Tordt eqgym/ erom § gmifee oo genfad Y Tehd T

(c) 3RS IR W& (JHI0) FHH B T |

(d) HE ot Wi (Teemdt) dfaes fafy 72 €1

(1) (a) (o) (2 (o) ¥R (d) (3) (a) ¥ (b) (4) (b) 3 ()

65. Which of the following statements is/are true ?
(a)  Self pollination takes place only in bisexual flowers.
(b) Bisexual flowers can pollinate both by self and cross pollination.

(1) Both (a) and (b) are false. (2) Both (a) and (b) are true.
(3) (a) is true and (b) is false. (4) (a) is false and (b) is true.
frrferfea & @ oF 91/ FHod | € 2

(a) T Shere fgfeft got (etl) W B g

(b) Tefelh goa (Fet), & & R-Tmor S YR | WA HiE e ¢ |
1) () 3R (b) I TeTd ¥ | 2) (a) 3R (b) I T T

(3) (a) Wl T SR (b) T T | 4) (a) oW T 3R (b) W T
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66.

67.

68.

Which of the following statements is/are true regarding Rainwater harvesting ?

(a) It conserves ground water.

b) It reduces local flooding.

c) It creates drainage problems.

d) It can be used for irrigation of crops.

1) (@) (b) (d) (2)  (b), () (d) 3) @, () () 4 (@), (©) (d
frefefed 3§ 9 &9 9/9 SHYe aui-Se G800 % oI § Fe 8/ 2

(
(
(
(

(a) TS Y-TcT T TRETUT LT & |

(b) I% TG AT T HH HI & |

() I v Fepre Heleht Toeansti sl a1 Ll €|

(d) THH ST wHa ot =R % fAw o s gewar g1

1) (@, (®), (d) (2)  (b), (), (d) ®) @, ®) () 4 @ () (d)

Which of the following factors are responsible for generation and flow of winds on the earth ?
a) Uneven heating of the earth

b) Uneven heating of the oceans

c¢) Distance between earth and sun

d) Gravitational force on the earth

1) (a) and (b) (2) (a) and (d) (3) only (a) (4) (a) and (c)
frafafad § @ ®F 9 SR geit W Iaql & 99 T 86 & fore et § 2

(a) gt 1 eifEfa (aRedta) ar
(b) TREFRI sl AfafHd (aRadta) ard=
(c) Tt IR g & = & g0
(
(

(
(
(
(
(

d) gt W EERYT g
1) (a) ¥R (b) 2) (a) ¥R (d) (3) e (a) 4)  (a) IR (0)

Read the statements given below and choose the correct options :

Assertion (A) : The filament of an incandescent bulb is made up of tungsten.
Reason (R) : Tungsten has low resistance and high melting point.

(1) (A) is true and (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not correct explanation of (A).

frefafaa wemi #1 ufer IR W& W F1 gAE FIf
AIRIT (A):  Teh ATIE oTodl 1 Yaq () ST ol S BT |
qeh (R) : I 1 e wfalie W 5= i B B
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69.

70.

71.

A gender responsive pedagogy in science entails.

(a) Use of gender sensitive language

(b) Engaging students in examining stereotypes

(c) Making gender based groups

(d) Using differentiated instruction and assessment

(1) (a)and (b) (2)  (¢) and (d)

(3) (@), (b) and () (4) (@), (c) and (d)

foagm # fom (Si=R) wfaga<) foemems safer o ®

(a) foin deifyd (SieX) Hogaeliar 91 & I9RT =l

(b) feag uroneT ®i wire/wE A | foenfea &1 w@iaw w1 a5
) T () snuiia 9g a0 =i

(d) faudiga e wa atrhe™ & FAM &

(1) (a) 3R (b) (2) (0 3 ()

(3) (a), (b) () 4)  (a) (o) ¥R (d)

Which of the following statement is not true regarding conduction of heat ?
(1) Conduction does not take place in gases.

(2)  All materials do not allow heat to flow through them in same way.
(3) Conduction is faster in solids than liquids.

(4) Two objects should be in contact with each other for heat flow.

Frfafed o € M 91 % qT9 & = & o) H T8l T © 2

(1) T H e T @

(2) Wit verel (TEfED) S R @R | FHH YRR § garfed 8 ot STgAfd T8 od/S ¥
(3) wdl &l gor B 3 el # =e i A g

(4) 1 % YoTE o T < SRt I Toh-gEX o HUh § B AT |

The purpose of divergent questions in science classroom can be :
(a) to promote critical thinking

(b) to discern between students

(c) to develop communication

(d) to identify gifted students

(e) to identify alternate conceptions

(f)  to appreciate subjectivity in science

1) (@) () (©) and (9 (2) (), (d), (@) and (9
(3) (a) (b), () and (©) (4) (a), (b), () and (9

fom e § 3199 YAl 1 Sed B Uohdl © :

(a) AT (foreremiener) oA w1 Urcdifed (sgram <A1) s
(b) foenfoRdi & oar 92 & #

(c) IR (FEV) faskfaa o =

(d) afaymenelt forenfeli =6t 8= & w1

(e) HfcTh SRS ! TgaH HA Hl

(f) foam ¥ =fsafrsdr i wierd &

(1) (@), ) (&) () 2 (), (@), () 3R (D

(3) (), (), (d) 3R (e) @ (@), ) () ()
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72.

73.

74.

Which of the following characterizes human circulatory system ?

(1) closed, single circulation (2) closed, double circulation
(3) open, single circulation (4) open, double circulation
reAferfiea ® © = ame aRE=R Jomed! 95 w1 aiid s 2

(1) ¥od, T §a (2) Heq, fgmeErd

(3) fogd, Tha X 4) fogd, fgre=m

Which of the following is true regarding scientific laws ?
(1) They can’t be challenged.
(2
(
(

) They provide reasoning for physical phenomena.
3) They describe relationships between observable phenomena.
)

N

They are formed from scientific theories.

frfafaa § 9 =i ol o o o -9 9@t ¢ ?

(1) 3% A & < S Hehelt T

(2) 9 Aifaes afeeaed & fau as (faa=m) mom &= €1
(3) 9 sTacrEe gEeTsti % Hex Gl 1 vl i ¥ |
(4) A i fagial @ s ¥ |

Read the statements given below and choose the correct option :
Assertion (A) : The rate of breathing in aquatic animals is slower than land animals.

Reason (R) : Presence of large amounts of dissolved oxygen affects rate of breathing of aquatic
animals.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not correct explanation of (A).
frefefaa wemi #1 ufer IR W& W F1 gAE FIf

AR (A) : o WURK R qoraT B Seitd Wforei =t Yode X et Sl § |

e (R) : STt | it g8 STiaRdIoi ohl S | STefta Mo <t a8 <X shl gifad il
1) (A) 58 § T (R) T 2|

2) (A) 3R (R) I TTerd ¥ |

(3) (A) 3R (R) I Tl T T (R), (A) T FEl AT |

(4) (A) 3R (R) S w& § T (R), (A) H HE AT T L
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75. Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.

Reason (R) : Sound waves after striking a curved surface get reflected in all directions.
(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation for (A).

(4) Both (A) and (R) are true but (R) is not correct explanation for (A).

afrere (A) :  Taem et oiR Hifta THRie ict i B4 = dishd i 2 |
e (R) : e Afshd Tag H T o Uvanq s al et feemedi § wafda @ st €1

(1) (A) 5E 8 W (R) 7w €|

2) (A) 3R (R) I Terd ¥ |

3) (A) 3R (R) 1 Tl & o1 (R), (A) T T A T

(4) (A) ¥R (R) i & € G (R), (A) T T =70 T T

76. Which of the following is not caused due to excessive use of fertilizer and pesticides ?

(1) Eutrophication (2) Bio-magnification

(3)  Soil erosion (4) Nitrification

Il TS hiSARIhI k1 AT T4 & Rl fFfafad o 9 9 91 78 e & ?
(1) gaoo (2) S eTEHT

(3) I AR (4) TR

77. An odometer in a car measures :

(1) average speed of the car (2) acceleration of the car

(3) distance travelled by the car (4) instantaneous speed of the car
T HR H SIS A1 &

(1) SR &I TEd =1 (TTf) (2) R @R (faEE)

(3) RGN T & T (4) R I ARt = ()
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78. Identify the mirrors on the basis of information given in the following table :

Mirror Nature of image Size of image
A virtual and erect same as object
B real and inverted same as object
C real and inverted enlarged
D virtual and erect diminished
A - Plane mirror, B - Concave, C - Concave, D - Convex
A - Concave, B - Plane, C - Convex, D - Concave

(1)

(2)

(3) A -Plane, B - Convex, C - Concave, D - Convex
(4) A - Convex, B - Concave, C - Convex, D - Concave

frefafed aroft § < T go1 6 STUR W U0 i 989 HIfT
gy gfafsrs &t wefa | wfafara &1 18R
A ST 3T Sreefie TG  THTIET
B redfaes o ufaetifd | o & e
C  |owafess iR gfaaitia faafda

D STl SR FHedefief STHRR | BT

(1) A -FHdd, B - 3add, C - 3{add, D - AIqd
(2) A - 379dd, B - 9Hdd, C - 3gHqE, D - 37add
(3) A -¥Hdd, B - 31@YW, C - 79dd, D - @@
(4) A - oW, B - 319qd, C - 9@, D - 319qd

79. Three identical holes are punched at different levels (heights) in a plastic bottle. The bottle is filled
with water. Which of the following statements is true regarding the flow of water from the

holes ?

(a) Water from lowest hole comes out with greatest force
b) Water from highest hole comes out with greatest force
c¢) Water from all holes comes out with equal force

d) Water from lowest hole falls at maximum distance

e) Water from highest hole falls at maximum distance

f)  Water from all holes falls at same distance

(b) and (e) (2) (a) and (d) (3) (c) and (f) (4) (a) and (e)

—
N

Teh s &1 e | Fi=-fa= & (SeEdl) W 9989 (THeY) oF o Tt 01 siad 1 99 9 W)

fozn | Frefafed o § &F 91 e[ 33 9§ I & (Yo18) 916 % 9N H wel § ?

(a) a9 88 | arl AfdeRdd el & | de ST

b) IoIAH B § UM SAfUHRaH I o WY SR MW

¢) At B | U THH €9 H SRR AW

g 9% 9 ar sifysad g W e

IATH BT § UM SAfehan g o e

g+t B § I T g8 W R

(b) ¥R (e) (2 (a) 3R (d) (3) (o) W () 4) (a) ¥R ()

~—

/—\A/{_—D\/—\/—\/—\
SLe el

—
N
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80.

81.

82.

The colour of flame depends on :

(a) Nature of combustible substance

(b) Oxygen supply

(c) Temperature of the surroundings

(1) (a) and (b) (2) (a) and (c) (3) (a) only (4) (b) only
ATl &1 1 fR e g

(a) <T&1 91 I Yehfd W

(b) TRt STgfd ™
(c) SAE-9E % qIHM T
(1) (a) R (b) (2) (a) 3 (o) (3) A (a) (4) e (b)

A class VII teacher plans to identify alternate conceptions of students in the topic “Adaptations in
plants and animals’. Which of the following sets of strategies is best suited for this purpose ?

(1) Diagnostic questionnaire, interview, drawings

(2) Project, checklist, drawings

(38) Drawings, checklist, interview

(4) Portfolio, group discussion, diagnostic questionnaire

& VI 1 T fremes ' aeul iR Sfra-wigeli § egeper’ foama W faenfeldi i denfeas sraumomsti w
T T ! AT S € | 39 3% o fore frrfefaa wrifadl & ag=ea § 9@ Si-a1 gaifs suged
€2

(1) eI gemEe, e, STR@ (Fastisd)

(2) S (URESED), STE-gE, s (fesiw)

(3) @y (fa=ie), Si=-, TahR

(4) UEHIfAST (TNH), FHfesw TREE, H_TR geAreed

Sunita drops a piece of potassium metal in a beaker of cold water and notes down the observations.
Which of the following observation is not correct ?

(1) Hydrogen gas is evolved.

(2) Pop sound is heard.

(3) Potassium reacts violently with water.

(4) It is endothermic reaction.

YT Sttt & sie | QIS g <1 Uk Ihel ST <dl © a7 STaeieh-l o feradt 1

frafafea § ¥ w91 sTacih T8 T8 2

(1) TS 9 fomwfad gt T

(2) e =AM G T B

(3) TifrEm wia % WY yee w9 9 Afufsher s ¥
(4) =g oA sAffsmer 7
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83. Following table depicts colour changes in acids and bases when various indicators are added :

Indicator Colour change in acids | Colour change in bases
Turmeric No change A
China rose Dark Pink B
Phenolphthalein C Pink
Methyl orange D Pink

A, B, C, D respectively are :

(1) reddish brown, pink, orange, colourless
(2) yellow, orange, pink, colourless

(3) reddish brown, green, colourless, orange

(4) yellow, green, orange, colourless

frefafaa aroft fafy= gkl & el STH W 37 $iX R § B &l O1 ey w1 fafa & ©

_— AFA | g4 qreAT T | g4 arar T
1 gfgadH gfada
Tl EAERICEEE ] A
ELCIRE TR TSl B
EAEIGEIGE! C NSIC]
Hioret - ATt D NSIE

A, B, C, D HAT: ® :

(1)  TIY T, Terrsll, A (AR, TEE
(2) dtel, SR, e, TEH

(3) THY U, B, TREH, 3~ (AR)

(4) dtem, g, S (AR, TTE

84. Two sperms of a man fuse with two eggs of a woman. The twins formed are :

(1) may be identical or fraternal ~ (2) always conjoint

(3) identical (4) fraternal

TE9 o <1 IR S & T Sl (3T) % Y fHerd ¥ 1 o a1t Jeat e €
(1) &Y T2 9 & gehd § (2) Hed HYH

(3) wHEH (4) wri=
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85.

86.

87.

Which of the following illustrates ‘science as inquiry” ?

(1) List five uses of coconut tree

(2) Observe the types of venation in various leaves

(38) Classify the given plants into herbs, shrubs and trees

(4) Explore factors which affect the rate of germination in gram seeds

Frafafead § @ =9 @1 ' ST9-vsdet s e foagm’ &1 fafm w=ar g2

(1) TRFd & U (F&) * i STArT giaas T

2) fafy= quit & RRifam=me < 9eRRi o1 STl S

(3) fewTu aredt (dheil) 6t wment, sfedt e el § orfieRtr e

(4) = R S H STHI0T T S ] YT HE ATl HRT R ST R

Read the following statements and choose the correct option :

S1 - Photosynthesis is endothermic reaction.

S2 - Respiration is exothermic reaction.

(1) Sl is true and S2 is false. (2) Slis false and S2 is true.
(3) Both S1 and S2 are true. (4) Both S1 and S2 are false.

I fou ol @ ufeu 2R W& S| H1 FAE HIfT

S1 - YT HYTIUT SEATAT SAffeman ¥

S2 - yaE et sifufshan ¥

(1) S1 9@ & iR S2 e T (2) S1 7 ¢ RS2 W@ T
(3) S1 3R S2 S e T (4) S1 RS2 M e

Which of the following activities is best suited to develop inductive reasoning ?

(1) verify laws of reflection experimentally

(2) solve numerical problems based on law of reflection
(38) asking students to state laws of reflection
(4) asking students to measure angle of reflection for various cases of angle of incidence in a

plane mirror

frfafea 8 @ sF-dt wfafafy sy fag=m & fou gaffus swga g2

(1) YIRS ®9 9§ TWEd- & Fodl i Fefad s

(2) A W | W enuiia den fovas (Hernere) guensi s gd Sl

(3) fornfer s wrerds o fram s & fore s

(4) foenfo =1 wada 4o H sadA-sior o fafy=1 Al o forg wed=-sho Jr9e o faw e
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88.

89.

90.

The atomic number of A is 13 and the atomic number of B is 17. The chemical formula of the
compound formed from A and B could be :

(1) AB, 2) AB 3) AB (4) AB,

A 1 AT 13 & 1 B 1 THAIY-AH 1781 A IR B ¥ Ffifa difire &1 Wi 95 3 9sar g
(1) AB, 2) AB (3) A;B 4) AB,

Read the statements given below and choose the correct option :

Assertion (A) : It is recommended that acid should be added to water for diluting the acid and
not vice-versa.

Reason (R) : Dilution of acid is a highly exothermic reaction.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not correct explanation of (A).

frefafaad weAl #1 afeu iR W& ST & TAE HIT :
AR (A): I TRIfEd § R 317t &l @9 9H % foTe Stet § 31t STl S =ife 7 o o1t § 57t |

qeh (R) : 3TRA o1 T (AR AT S ®9 § Soerdt tfufspan 7
(1) (A) 98 T W= (R) TTed 2|

(2) (A) 3R (R) IH T E

() (A) 3R (R) I Tl T (R), (A) T FEl AR T |

(4) (A) 3R (R) S w& § T (R), (A) T AT T L

Which of the following is not a feature of alternate conceptions in science ?
(1) Ideas are developed from observable features.

(2) Ideas do not demonstrate cause and effect reasoning.

(3) Ideas are stable.

(4) Ideas are resistant to change.

fr=fafad § 9 =9 @ fogm § Sefoas stauronsti =i fagmedr &l § 2

(1) ToaR sTeciRia formet & fomfad g €|
(2) foeR, ®RU R guE q I S & wd ¥
() TR ferdR

(4) four aftedw gfeed 2 €
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IMPORTANT | Hgeaqof :

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).

witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - 111 / 4191 - 111

SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.

T : freaforfaa 3o % ST 7 % fod Wel qad uger 3%y g

31.

32.

The Government has passed laws that made it mandatory for organisations with more than
women employees to provide creche facilities.

1) 25 @) 30 3) 10 4) 15

TEHR A VA A i fope € e o7 dreHt & siretanet (svar gfaen) sifam feman © sl afen s
H Hem g sfue 71

1) 25 @) 30 3) 10 4) 15

The Indian National Congress in the early years raised a number of economic issues against the
British. Choose the correct option.

(i)  The Congress declared that the British rule had led to poverty and famines.
(i) It demanded reduction of revenue and cut in military expenditure.

(i) Congress demanded more funds for irrigation.

(iv) It raised the voice against entertainment tax.

(1) Only (i), (ii) and (iii) are correct (2) Only (ii), (iii) and (iv) are correct
(3) Only (i) and (ii) are correct (4) Only (ii) and (iii) are correct

SR Tl H R T HiH A US| & TGk 9gd 9R T e 33T Fat SR I A1 Y |
(i) I 1 Fe o fom wRa H fafew oA & o @ @ e iR st e @ E

(i) TG AT T, TR o Y T S qen st @l § wKdT S |

(iii) 39 fo=mE % fau eifue oTqem =t 7 =

(iv) THT HARSH Rk TEc® STerst 3o |

(1)  Fad (i), (i) T (iii) T | (2)  FEd (id), (iii) T (iv) T

(3) A (i) TS (if) T T | (4) FaA (i) T (iii) T |
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33. Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) Plant and Animal Kingdom
(b) Hydrosphere (i) Made up of rocks and minerals
(c) Atmosphere (iii) Various sources of water
(d) Biosphere (iv) Thin layer of Air
(1) (a)-(iii), (b)-(iv), (c)-(1), (d)-(iD)
(2)  (@)-(iv), (b)-(1), (c)-(id), (d)-(iii)
@) (a)-(@), (b)-(i), (c)-(iii), (d)-(iv)
() (a)-(iD), (b)-(iii), (c)-(iv), (d)-(0)

(a) TUeHEA (i) U_Y TH Sira-Sig

(b) SAHEA (i) =eH TE Qs 9 o g
(c) dgHEd (il) & o fafv= €@

(d) Stered (iv) 9g ! Udell 9

(1) (@)-(ii), (b)-(iv), (c)-(1), (d)-(ii)

2 @)-(v), (0)-(0), (c)-(ii), (d)-(iii)

©®)  @)-(), (b)-(ii), (c)-(iii), (d)-(iv)

4)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(0)

34. Which of the following is true about Ashoka’s dhamma ?
(a) It did not involve worship of a god.
(b) It did not involve performance of a sacrifice.
(c) The ideas of dhamma were inspired by the teachings of Buddha.
(d) Ashoka appointed Buddhist monks to teach people about dhamma.
Choose the correct option :
(1) Only (b) and (c) (2) Only (a), (b) and (c)
(3) All (a), (b), (c) and (d) (4) Only (a) and (b)
frafafad & § = 0 Fua oRiE & 77 foawe J w2l 82
(a) TUH fRER <o 1 G i STEwARAl el off |
(b) TUH TRl Scl HHEIS Dl AR Tai off |
(c) &=« fIar g5 % 3ucul 9 9T 91
(d) < = e Rl fian oF % fog swies A st faegsti t fgfed =t
WE oo o1 =197 L |
(1) e (b) T (o) (2) A (a), (b) T (c)
3) (@) (), () T (d) T+H (4) A () T (b)
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35. Below are two statements (A) and (B) in the context of leather workers in 19t century.
(A) During the First World War there was a huge demand for shoes for the armies.

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply
shoes for the army.

Choose the correct option :

(1) (A) is true but (B) is false (2)  (A) is false but (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are false

F= § FHUA (A) 3R (B) 19 v H THS T HH HE A b G H T

(A) v fava g5 % SRE I % fau i ot o A Ser & T oft |

(B) T STl o TS @M A $9 TSR 1 <@ 3iR 91 g S[d 3T o feIg dam =1 T
e foshed &1 =g A

(1) (A) 5@ g ifehd (B) 7Ted B (2) (A) 7o © ifehd (B) WET B

3) (A) 3R (B) I W&t § 4) (A) 3 (B) THI T §

36. The Mughal revenue system with its own schedule of revenue rates for individual crop was
called :

(1) Zat (2) Iqta (3) Jagir (4) Zabt
T Toid Faeel o & i o falg Terea X i ST F= 96 T8 39 Fed © ¢
(1) S (2) s (3) SR (4) =

37. The rocks that were formed 300 million years after the earth was formed, is :

(1) located in Eastern Europe

(

2)
(38) considered as youngest rocks in the world
4)

(
ot ot 9 & S, S g % Fraio ¥ 30 e o TR A, ¥
(1) eff 70 # feera €

(2) Temmew & H feord §

(3) fova =t wEaw i A S §

(4) afvet smeefern # freoa ¥

located in the Himalayan region

located in Western Australia
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38. Match the following concepts in Column - I with their examples in Column - II and choose the

appropriate option :

Column - I Column - II

Concepts Examples
(a) Discrimination (i) Differential pay for same work
(b) Inequality (i) Villagers are superstitious
(c) Stereotype (i) Womannotallowed to be hired since she is starting a family
(d) Prejudice (iv) Girls are good at cooking
(1) (@-iv), (b)), ©-(), (d-Gi)
@) (@), (b)-(0), (©)-v), (d-Gi)
(3)  (@)it), (b)-(0), (c)-(ii), (d)-(iv)
4) ( ) (iv), (b)-(i), (c)-(3), (d)-(iii)
WY - 1 i F=fafed Seeasii &l T - 1 H ST T 376 IS0l 9 gHfad hifay IR Suge fasmey
ISR

W -1 WY - 10

. o
(a) HeWE (i) EHE % % fAT ster daaq
(b)  STEEFA (i) TTHATH Sfufavar €
(c) Sfeanfea (iii) HfEeT I ISR T FATAM TEI & Fifh I8 TRAOR & FL T 8/
Teferdt §
(d) gAERom (iv) TSR @M1 IH/ HieH UM | o3t
(1) (@)-v), (b)-(iid), (c)-(1), (d)-(ii)
(2)  (a)-(ii), (b)-(1), (c)-(iv), (d)-(ii)
() (@-(ii), (b)-(1), (c)-(ii), (d)-(iv)
@) (@)-@v), (b)-(i), (c)-(0), (d)-(iii)
39. Which of the following is/are correctly matched ?

Crop Required Climatic Condition
(a) Coffee Cool and dry climate
(b) Tea Warm climate and high rainfall

Choose the correct option :

(1) Both (a) and (b) (2) Neither (a) nor (b)
(3) Only (a) (4)  Only (b)
forer 3 & B T FA-R T T gt 230
waA MAYISH STAaTAfad <9
(a) HIHI 22l iR &k Setay
(b) =M T e iR =9 9wt
& fashed w1 = HIfT
(1)  (a) TN (b) SHI 2) T (a) R AT E (b)
(3) ¥ (a) (4) FaA (b)
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40. The category “erstwhile princely states” was applicable :

(1) in the post-1956 when they were no longer retained as administrative units.

(2) to none as no such category existed in India.

(3) at the time of Independence around 1947-48 only.

(4) Dbetween 1947-48 and 1956 when they were recognised as administrative units

“ el feamea’ 4oft @ ot

(1) 1956 % 915 518 3= YRMHIeh SHhISA o €9 H GIad &l W@ T |

() o T ot T i e e A S v A oft

(3) TG %k AT hadl 1947-48 % 3T U |

(4)  1947-48 3R 1956 o= 59 3¢ YRE(Th Sehigal o &9 § A=Iar et |

41. Match the following in the context of people and objects in ancient times and choose the appropriate

option.
A B

(a) Barygaza (i) Stamped red-glazed pottery

(b)  Shrenis (i) Bharuch

(c) Arretine ware (i) Independent farmers

(d) Grihapatis (iv) Associations of crafts persons and merchants

1) (@-(v), (b)), ©-(), (d-Gi)

@) @-(), B, (©)-v), (d)-(i)

(3)  (@-i), (b)-v), (o)-(D), (cd)-(i)

() @-i), (b)-Gv), (o)), (D-()

ardta o el 9 awgell & ded # frAfafea w1 faem wifse ok Suged fawey &1 g Sifag |
A B

(a) SIS () HE T ATA-THHRIN oI

(b) gt (i) &

(c) TEET U= (ili) A FR

(d) TEufd (iv) TreusRri qen =rafEl o §6

(1) @), (B)-Gii), (©)-G), (d)-Gi)

(2)  (@)-() (b)-(i), (c)-(iv), (d)-(iii)

(3)  (@-(), (b)-(iv), ()-(1), (d)-(iti)

4 (@)-(), (b)-(iv), (c)-(iid), (d)-()
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42.

43.

Archaeologists play an important role in deciphering history. Which one of the following choices
is incorrect about their nature of work ?

(1) Look for bones of animals, birds and fish
(2) Examine the written records
(38) Study the remains of buildings, paintings and sculpture

(4) Explore and excavate tools, weapons, pots, pan, etc.

SfRrE i efafa =i e1ef ferer/ faem & quadiag T gewaqul it fad 8 1 Fefatea § & 376
T I YHfa & TR H A 91 Gl T 72

(1) STee, wferd, Fefel i et gan

) fafed wmft (2@ =t §ita

@) e, fesil (W) we g & st 1 sremd

(4) ST, S, w3, s 1w 3 o wT- o g

The opening time of Central Government Offices in India is 9:00 a.m. IST, what will be the local
time of opening of the Central Government Offices located at 80° East Longitude near Chennai
and 92°45' East Longitude near Itanagar, respectively :

(1) 08:50 a.m. and 09:41 a.m. respectively

(2) 09:41 am. and 08:50 a.m. respectively

(3) 09:10 am. and 08:19 a.m. respectively

(4) 08:19 am. and 09:10 a.m. respectively

RA § 1 YRR el & G ol §7d ag o 9:00 51 IST ( ¥RATE HFs ¥ &, T =18 & a9
AW 80° Yo SUIGR TUT SR & I 92°45' Yo SRMIaX o 9 feord sheftd iR wEferdl & ged
THTT HHA SHHT: AT B0 2

(1) ShER: GaIg & 08:50 oIS qAT g o 09:41 o
(2) SHER: GAT % 09:41 TS TAT AT h 08:50 IS
(3) AR FAE % 09:10 Tl TAT FoIE o 08:19 Tt
(4) SHER: FAT % 08:19 IS TAT AT h 09:10
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44.

45.

46.

Women were taught at home in nineteenth century colonial India because :

(a) they could study as well as do domestic duties.

(b)  people believed that going out in public places would corrupt them.

(c) people wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1) (b) and () (2) (@) (b)and () (3) (a)and (b) 4) () and (c)
SIgat TSl o SHUMafTs YR | TASfehal ol =R W & IgrR SIdm o Fifh

(a) O UQRE h YT T FH H H T |

(b) T AT & R AR T W S | S forre S |

(c) <N 319 Heiferli wdl fiall @ 3ot fran & d2a umn =med 9 |

e forehed 1 =37 |

1) G O @O @ @O @) @MW

Which one of the following is not correct for grama-bhojaka ?

(1) The king often used him to collect taxes from the village.

(2) He did not function as a Judge and policeman.

(3)  Usually, men from the same family held the position for generations.
(4) He had slaves and hired workers to cultivate the land.

Trefafaa § 9 s o aH-vse % fou 92 7@l 22

(1)  Tia 1 H TG HT HH TS 3THRR 3% & 97 < 9|

(2) & =t IR gfers w1 wM Tl i o |

(3) SRR Teh & INER & AN 39 U8 W g ifed dh o ®d 9|
(4) TTHRI SHIM W Tk I TR FSIQY M HW 9|

Below are two statements (A) and (B) in the context of Shri Narayan Guru.
(A) He advocated equality of all within a single sect or caste.

(B) He inspired all of them to have faith in all gurus.

Choose the correct option :

(1) (A) is true but (B) is false (2) (A) is false but (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are false

= < A (A) 3R (B) ot TREW TE F Hed H ¥

(A) ST STTIR GRI HFadl S Tk & Sfd g

(B) 3R Tt ol Weft esi H fowerw W & forw URka foran |

Heal faned =1 =91 S|
(1) (A) T2 ¥ Afsh (B) Tord © (2) (A) T § AfhA (B) W& ©
3) (A) 3R (B) I Wt € (4) (A) 3R (B) SHi Ted €
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47. Match the following pairs and choose the appropriate option :
Rocks Origin/formation
(a) Igneous Rocks (i) Change under great heat and pressure
(b) Sedimentary Rocks (i) Molten Magma
() Metamorphic Rocks (iii) Deposition by wind and water
Choose the correct option :
(1) (@), (b)-(), (0)-(i)
(2)  (@)-) (b)-id), (c)-(i)
(3 (@-@) (b)-(), (c)-(iii)
@) (@)-(), (b)-(iii), (c)-()

o o o

Frefatad el o UM Sty SR ST fashed Sl A ST :

¥ ety femtor
(a) 3T S (i) =9 A9 S TTe % HRU gRafid 8 o §
(b) SFEER! A (i) wfaa H
(c) A St (iil) T SR STt ST o TR Teh T ¥ T LI R TR, 51 3 feu
Kk
e foshed &1 =ad HL |

(1) (@)-(ii), (b)-@), ()-()
(@) (@)-(1), (b)-(iii), (c)-(ii)
) (@), (b)-(ii), (c)-(iii)
@) (@)-(), (b)-(iii), (c)-()

48. Which layer of the atmosphere has very thin layer of air ?

(1) Stratosphere (2) Mesosphere (3) Thermosphere (4) Exosphere
AHed Fi TR Wa | 9 I ogd Tael W Bl § 2

(1) THd™ Hed (2) weHEA (3) @ agHeEd (4) wfeHea
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49.

50.

A population pyramid with big base and skinny top shows :

(a) High birth rates

(b) High death rates in higher age group

(c) Relatively large number of young population

(d) Large number of deaths of infants

Choose the correct option :

(1)  Only (b), (c) and (d) (2) Only (a), (c) and (d)
(3) Only (a) and (b) (4) Only (a), (b) and (c)
Teh oS MR IR Udell =St aren shaen fafre g € -

a) SHIHI

b) I Y T H 39 G K
¢) qoIcHE &9 § U Jar SHEe
d) et § 9wt sifuss sy/den

TE faseq =1 931 |
(1) e (b), (c) 7T (d) (2) 9 (a), () T (d)
(3) T (a) AT (b) (4) &ad (a), (b) T4 ()

Consider the following sentences (A) and (B) about motions of the Earth and choose the correct
option :

(A) Rotation is the movement of the earth on its axis.

(B) The axis of the Earth which is an imaginary line, makes an angle of 33%o with its orbital
plane.

Choose the correct option :

(1) Both (A) and (B) are correct (2) Both (A) and (B) are incorrect

(3) Only (A) is correct (4) Only (B) is correct

gealt &t Mfaal & aR § fou 7o ffafaa weFi (A) 3o (B) R =R & qon w&@t faseq &1 ghma wi |

(A) TSt T ST 3187 W AT UM HEATd ¢ |

(B) geall 1 3787 Uk hIcUfeh X1 €, S 7T hafla Tde ¥ 331°, 1 17 st § |

e fased &1 =39 H|
(1) <SH (A) 71 (B) T&t § (2) TH (A) 7T (B) T €
(3) hadt (A) T ® (4) dd (B) T ©
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51.

52.

53.

Which of the following statements is/are true about technological development in temple
construction from the twelfth century ?

(a) The weight of the superstructure was carried by the shikhara.

(b) Sandstone mixed with stone chips was increasingly used in construction.
Choose the correct option :

(1) Both (a) and (b) are correct (2) Both (a) and (b) are incorrect

(3)  Only (a) is correct (4) Only (b) is correct

frefafed § @ 9 o1 weH aRed! ddt S w5 i § gy forey famm aw-es & faw & an # 9@
g2

(a) AT A1 AR foredl o eret foan i e

(b) T7afor & Sqe-TeeR o WeR & VIS THS| o THH0 H1 I & FAFT S o |
e oo o1 =97 |

1) (a) 3R (b) S T & 2) (a) 3R (b) I TR T &

(3) A (a) W T (4) I (b) T ©

Who among the following edited newspaper Kesari which became one of the strongest critics of
the British rule ?

(1) Mahatma Gandhi (2) Lala Lajpat Rai

(8) Jyotirao Phule (4) Balgangadhar Tilak

frfafad § @ ®F FHg? TS SRFER, SN S I 1 X ATl o9 74T o, 1 Y9G o ?
(1) e et (2) ATl SrSYd T

() SAfE ol (4) STermER faees

Which of the following statements are correct about Amazon basin ?

(a) This region is characterized by hot and wet climate throughout the year.

(b) People practice ‘slash and burn’ agriculture.

(c) People mainly grow paddy.

(d) Aircrafts and helicopters are also used for reaching various places in the basin.
Choose the correct option :

(1) Only (a), (c) and (d) (2) Only (a), (b) and (d
(3) Only (a), (b) and (c) (4) Only (b), (c) and (d)

TieA AfeR & o § frafafed § 9 @R § wom e €2

(a) R Tl T 3R A9 ey Tt |

(b) TEl < A 9 e’ HT w T

(c) T gE&Id: ¥ I ¥ |

(d) o ¥ E Tl Tk vgeR % fAT gardseTS de SefteRredl st ot i faRe S €1
[ forehed 1 =gd |

(1) e (a), (c) T (d) (2) e (a), (b) T (d)

(3) e (a), (b) T (c) (4) A (b), () T (d)

~—
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54.

55.

56.

In a physical map of India if you have to locate the Deccan Plateau, it will be represented by the
colour :

(1) green (2) yellow (38) orange (4) brown

qRd & Yifaes gEfes § Ife SRl S & TSR 1 TgaHHl © oI, I8 forg 11 9 <91 73 =i ?

1) =& (2) e (3) 4) @

Choose the measures to control soil erosion and depletion from the following.
(@) Mulching (b) Over grazing

(c) Terrace farming (d) Inter cropping

Choose the correct option :

(1) (@), (b), (d) only (2)  (b), (c), (d) only

(3) (@), (b), (c) only 4) (@), (c), (d) only

frafafed # @ g1 3TReEA IR &fiorar =i a3 & Ul &1 =9 Hifaw |

(a) Td SAM (b) 3Ifq =T

(c) difcem wH (d) o= H HHA I
& fasey 1 w=e HL )

(1) a4 (a), (b), (d) (2) F94 (b), (), (d)
(3) F4 (a), (b), (o) 4) F99 (a), (), ()

Who coined the phrase, “Unity in Diversity” ?
(1) Subhash Chandra Bose (2) Sardar Vallabh Bhai Patel

(3) Pt. Jawaharlal Nehru (4) Mohandas Karamchand Gandhi

“fafayar & Tehar’ geer forem fean ?
(1) g9 =g o | | (2) YRR TEAHYR ded |
(3) dfed Samte ToE A (4) RIS HIAT T
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57.

58.

Consider the statements (A) and (B) about Paramountcy and choose the correct answer :
(A) The Company claimed that its authority was not supreme.

(B) In order to protect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom.

(1)  (A) is true but (B) is false (2)  (A) is false but (B) is true
(3) Both (A) and (B) are true (4) Both (A) and (B) are false

(A) 3R (B) FeHl W Hateadl & Hed H foam HIfaq 3R H&l ST 1 =9+ it |
(A) U A < fopan fob S9ent sifueR watea =i ol

(B) 31+ fedl &t & & folu g 9Rdia RATdi o1 AR &3 a1 7! ST i g0l <o
SATYPR HUAT T T AT off |

(1) (A) 92 § Afed (B) e B 2) (A) e § Wferd (B) 8 T
(3) (A) 3R (B) T W& 1 (4) (A) 3R (B) SHI ot 1

Consider the following statements about Ladakh and choose the correct option.
a) Several rivers flow through Ladakh.

b) Due to high altitude, the climate is extremely cold.

c) Despite being in the rain shadow of Himalayas, there is high rainfall.

1

(

(

(

(d) This area experiences freezing winds and burning hot sunlight.

( Only (b), (c) and (d) are correct (2) Only (a), (b) and (d) are correct
(

)
3) Only (a) and (b) are correct (4) Only (a), (b) and (c) are correct
e % 9 H fou U = Feel W faer wifse qon w@ fased @1 g wifew )

(a) TG ¥ TR g T Afear st ¥ |

(b) feek ST B % HRV FET I Sy At S T

(c) fewmera & gftc Brn &5 § 31 & FENE TRl S=a Iu1 918 S < |

(d) IT &5 TRich gansil U A ST aTel drd SRl 3TN T ¢ |

(1) s (b), (c) T (d) T 1 (2) I (a), (b) T (d) T ¥
(3) A (a) T (b) T T (4) HAA (a), (b) T (c) T L1
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59. Consider the two given statements (A) and (R) and choose the appropriate option :
(A) : Those places West of Greenwich will be behind of Greenwich time.
(R) : The Earth rotates from east to west and sun rises early in eastern side.
(1) (A) is true and (R) is false
(2) Both (A) and (R) are false
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)

feu T weHl (A) 991 (R) W fa=ar sifsre qen g&t foseq 1 gAm@ sifsr |

(A) : Sl T W= & 9w § €, 39 9ma W= § 9 @)

(R) : 9ot 7d & ufeam ot SR TRt ot § qen g gd foen # Sedt e ¢
1) (A) ¥ € 741 (R) T g |

(2) T (A) T (R) T T |

(3) THI (A) T (R) TEl € 7T (R), (A) FT Tl TR & |

(4) =H(A) T (R) T € T (R), (A) 1 T TIeiahor T R

60. Watan Jagirs were given by Akbar to which of the following chiefs ?

(1) Sisodiya Rajputs (2) Indian Muslims
(3) Sikhs (4) Marathas
3Feher < Tfeiaa # & fohe SRel ol o SR feo on?

(1) T T (2)  RdTE GHAAM
(3) Toe (4) WS

61. A well-designed portfolio assessment in social sciences should be :
(a) purposeful and systematic
(b)  reflect regular assignments and activities of student
(c) focus mainly on the preparation of report card
(d) accumulation of student’s work over a long period of time
Choose the correct option :
(1) (@) (¢) and (d) (2)  (a) (b)and (d)
(3) (@), (b) and () (4)  (b), () and (d)
RS foam & T oT=8! T 9 IR a1 g3t Uewhifaal &l
(a) 3IeRAYUl I Fafeerd BT AMfed |
(b) faeneft & frafa st a nfafafe=i = <o =ife )
(c) HeId: RaE e a9 W hf=d g1 =ifeu |
(d) foeneft & sl =61 ofd T &1 GUR B e |

TE faehed 1 999 HL |
(1) (a), (c) T (d) (2)  (a), (b) T (d)
(3)  (a), (b) T (c) 4) (b), (o) T (d)
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62.

63.

Project method in Social Sciences involves
(a) Activity (b) Discussion
(c) Experiment (d) Narration

Choose the correct option :

(1) (a) and (b) only (2) (c) and (d) only
(3) (), (b) and () 4) () (c) and (d)
araTferen faam o ufEs usfa # wnfae € |

(a) Tifdfafy (b) ==

(c) WM (d) =i

& fosed 1 997 HL |

(1) <had (a) AT (b) (2) haA (c) T4 (d)
®)  (a), (b) @ (c) 4)  (a), (o) @M (d)

Consider the following statements and choose the correct option.

Statement (A) : Investment in non-farm activities in rural areas can reduce the rural urban
migration.

Statement (R) : Migration increases during particular season when there are no agricultural
activities in rural areas.

(1) (A) is true but (R) is false

(2) Both (A) and (R) are false

(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)

freafafad weml W foar wifse o 9@ faswen g
T (A) : T & H R-pfy nfafaferel § frow, oo v weres w wH wR HEhd ¥

T (R) : T fafre Aiew & SRH veed § gig Bt © St A &5 H g HHrg ettt T8l o @i
2l

(1) (A) 5 g dfehd (R) TTerd T |

2) (A) 3R (R) I TTerd B |

() (A) 3R (R) I &I € 31X (A) T (R) HeEl HARAT T € |

4) (A) 3R (R) S Tt € Afer (A) T (R) T =A@ T Ll © |
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64.

65.

Which of the following questions assess the analytical aspect of the cognitive process ?
(a) What are national curricular objectives which can be achieved through heritage projects ?

(b) How are methods of history useful in the research of (a) science; (b) art and management
studies ?

() In how many regional languages and local dialects ‘VividhBharati" programmes
are broadcasted ?

(d) Write a review on two historical serials you have watched.

(e)  What are Bharuds ? In which region / State this is popular ?
Choose the correct option :

(1) (a), (b) and (d) only (2) () and (e) only

(3) (@), (), (c) and (d) only (4) () ©) () and (¢) only
frfafed § & ®F-9 79 G Uik & faeervonees s i aifed § 2

(a) o U A=Al 33T 1 ¢ TR eRIe e aREsIetl < g duifea (Iuisia) foram ST derdn
@7

(b) faer@ #i faftmT (a) fomM; (b) el & oA ST & WY B FY GeEd § 2

(c) ‘fafauyrd’ wreishdl i fha &sia sl Te T aifaal o gaiia forar 7ar o ?
(d) 9H N W@ N < ferfEe aREnfesh! W wHen fafa |

) vEsFNT? T o/Toa § 78 Ahiug 72

e foeheq 1 =99 |

(1) ad (a), (b) AR (d) (2) O (c) 3 (e)

(3) I (a), (b), () 3 (d) (4) A (b), (o), (d) 3 ()

Read the Assertion (A) and Reason (R) statements and choose the correct option.
Assertion (A) : Students should be encouraged to ask questions in the classroom.
Reason (R) : It will help the introvert students to open up.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

USRI (A) 3T ek (R) 1 Ui qen Tet faskeq =1 ==  Hifs |
AR (A) :  Torenffai =l han ¥ uv Yo ¥ Uiedifed foren S =nfew |

e (R) : I8 siqqet forenfef=i =l ger H Hgrd |

1) (A) T T AfHA (R) TTerd 71

2)  (A) 3R (R) ST Tord ¥ |

(3) (A) 3R (R) I T&I € 31X (A) = (R) HEl AT Hdl € |

(4) (A) 3R (R) ST =& T AT (A) T (R) T =1 Tl B
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66.

67.

68.

Which of the following may be acquired by learners in a project work that involves engaging
students in authentic, real-world problem-solving tasks ?

(1) Enhancement of creativity and innovation

(2) Promotion of collaboration and team work
(3) Development of critical thinking skills

(4) Improvement of content knowledge and skills

=1 5 @ o el e fad B 1y, arcfaes g s auen-gHieE & gy ifsta foha
S Gehel © 2

(1) TEATHdl 3R el # gig |

(2) TEER IR W Tk S aQET A
(3) EEIEEAHS | hivIe ol o |
(4) ol 9 oIR e H gUr|

The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

(1) Russian Revolution (2) Magna Carta

(3) American Revolution (4) French Revolution

IR Sfaa™ | w@asdl, 9HEar aof s & faur fae e g |
(1) T Hifdd (2) ARl "

(3) TR whifd 9 (4) TG sifa |

Which of the following are essential elements of a fair trial ?
(a)  The trial is held in an open court.

b A copy of charge sheet and all other evidence that the prosecution presents to the court are
Py g p p
given to the accused.

() The defence lawyer is not allowed to cross-examine the prosecution witnesses.

(d) Judges decide the matter on the basis of the statements articulated by lawyers.

Choose the correct option :

(1) Only (a), (b) and (d) (2)  Only (b), (c) and (d

(3) All (a), (b), (c) and (d) (4) Only (a), (b) and (c)

1 & 9 FH-9 fasrea froqer gAarE & Jod 7 © 2

(a) THHT ST % T el STeed § el < & |

(b) STRIU-TF IR Al &1 R % fohu Tu weft el it W ufa ARG 1 & S §

(c) S IE Ul % Fehict ohi SATTATSH T i TR | U1 fohT 7T AR Tael | g e o1 Hisht 721 fean S
€l

(d) AT SIETE % WA Fehial g ST T el & STER 98 el i ¢ |

e forehed w1 =7 |

(1) 5 (a), (b) T (d) (2) S (b), (o) T (d)

(3) (@), (), (c) T (d) T+H (4) 9 (a), (b) T (c)

~—
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69.

70.

71.

Which of the following technique is most effective to assess individual performance of a student
working in group task ?

(@) Rubrics (b) Multiple Choice Question

(c) Presentation (d) Portfolio

Choose the correct option :

1) ©@and(d) () @and(d) (3 @and®) @) (5 and ()

frefafed 8 @ FH-H geais fafy ged e Suged et e 91 Bie-91e TUgi H & w1 & 3%
B T ST~ T ook HTAT 2l 2

(a) ToR (b) wEfamedd T9

(c) HifEs TR (d) HEwITaE

TEr faseq =1 931 |

(1) (o) T (d) (2) (a)TAT(d) (3) (a) T (b) (4) (b) T ()

Which region in India has the highest concentration of Adivasi communities ?

(1) East India (2) West India (3) North India (4) South India
Id & for & | smfqardt ToerEl s geqd g 31fes 2
(1) Yot 9rRa ¥ (2) UREH YWRAH (3) IWHURTH (4) <faror wid |

Which one of the following statements accurately reflects the concept of plurality in social science
curriculum ? Choose the correct option :

(1) Exclusion of certain perspectives from social science
(2) Use of complex language in social science curricular materials
(3) Dominance of a single ideology

(4) Inclusion of multiple perspectives and diverse view points

WIS fomm areu=mt § 3Tehedl &1 HeheUdl o] FEfafad § ¥ -1 U" Telehdl § <uidl & ? &
foeheT 1 999 |

(1) =R foam & $2 afdedt 1 fehmm
(2) wrHEISeR fogm arer=rat wreRft § hfaA e s Swn

(3) Tehdd Toamem =it g
(4) o afde IR fafay gfewml @ afmfad &
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72. Consider the statements (A) and (B) and choose the correct option :
(A) The natural sciences are superior to social sciences and are the domain of bright students.

(B) The social sciences are essential to provide social, cultural and analytical skills required to
adjust to an increasingly independent world.

(1)  (A) is true but (B) is false (2)  (A) is false but (B) is true
(3) Both (A) and (B) are true (4) Both (A) and (B) are false
FA (A) 3R (B) R foar wifs iR &t fasred g

(A) TThfaer faam amfses faam & 90 © iR 718 Ser faenfe = & %1

(B) ISR T WHTfSTeh, Wikhfaeh 3T faveiooiter Siere ol UeM 3 & fau stavas § St admm
s fova § 99 98 & fau sTavas g |

(1) (A) T3 ¢ fheg (B) 379 © 2) (A) 38 T g (B) T T
(3) (A) ¥R (B) Tl T € (4)  (A) 3T (B) T 19 §

73. Involving teachers is considered important in the development of social science assessment
framework to :

(a

) integrate contemporary events and prevailing changes.
(b) make curriculum and evaluation only subject-centered and to limit its scope.

(c) save time, labor and money by using teachers only as a resource.

(d) make necessary changes according to the level of teachers by using the experiences of teachers.
Choose the correct option :

(1) (a), (b) and (c) only 2) (a) and (b) only

(3) Only (a) 4) (a) and (d) only

AR faem™ & Yedishd Tav@n & fmior § ekl s wrieRt Tecagel A S ® -

(a) TEEMH TS SR Yaferd TRex! sl THTERfEd & & fag

(b) ISl R YR  had TT5F higd I T Ued=al o TR Hl W & & foaw |
(c) had ferehi 1 Teh FEEA & €9 H TEHE H T, F7 3R &9 Ht I9q HH & fau|
(d) Torerer & STVl o SEHTCT o gRI Faiehi o TR o 3TIEY 3Tewaeh Iiedd s o fog
TE fashed w1 = H

(1) 9 (), (b) R () (2) A (a) SR (b)

(3) FFA (a) (4) FA (a) 3 (d)
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74.

75.

Consider the following statements Assertion (A) and Reason (R) in relation to the nature of Social
Science and choose the correct option.

Assertion (A) : The social sciences have developed their own distinct methods for dealing with
facts in an objective and systematic way.

Reason (R) : Unlike the natural sciences, in Social Science it is difficult to insulate the observation
and analysis of facts from the pressures of popular sentiment.

(1) Only (A) is true

(2) Only (R) is true

(3) Both (A) and (R) are true and (R) is the correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)

qrIfSTe faam &t Ushfa & ey § frefafead wemi sifuere (A) 3R aeh (R) W fo=r sifse qeon w&t

faehed ol =9 hifld |

AR (A) :  HEITS o A qei § ITd & shdas AF (YhR) ¥ 9 79 o191 T st fafire

faferar fasfaa =t €1

e (R) : TThfaeh foam 9 =1 (o18ewn), At fag™ H defua vraisli o <amE 9 a2l
3TCR TS AT Sl Yereh HEAT hicA T

(1) Fad (A) T &)

(2) ad (R) T& T

(3) (A) S (R) AT W& T T (R), (A) I FE = 2 |

(4)  (A) 3R (R) A TE & TG (R), (A) FT T = T R

Which of the following may be used to denote democracy ?
(@) People are equal and free

(b) People are wealthy and prosperous

(c)  People resolve conflicts in a better way than others
(d) Government is more accountable and rational

Choose the correct option :

(1) (b), () and (d) (2)  (b) and (d)

(3)  (a) and (b) (4) (@) (b) and ()
Trhas ol g ¥ Fefataa § 9 freeh g fohan S wehar € 2
(a) T HHM SR w@6d € |

(b) T & 3R TS B ¥

(c) T e bl ORI T g | decl aih F s ¢ |

(d) WHR Afeh FareRg IR ThETd 7

& foreeq 1 =FT L
(1) (b), (c) AT (d) (2) (b)qur(d)
(3) (a) A (b) 4) (a), (b) A (c)
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76.

77.

Match the following and choose the appropriate option :

Indicators of assessment Skills/Abilities
(a) Discussion () Sensitivity towards differently abled, showing concern for
environment
(b) Observation (i) Making logical connections
() Normative concerns (i) Reporting, narrating, picture-reading and drawing
(d) Explanation (iv) Listening, expressing opinions and finding out from others
(1) (@)-(iv), (b)-(iii), (c)-(ii), (d)-(0)
() (a)-(i), (b)-(iii), (c)-(iv), (d)-(0)
©B)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
4)  (@)-(iv), (b)-(ii), (0)-(i), (d)-(iii)
1 U il o1 faem Y qen Sug fashed o -
MR ok Hehdeh FREATd / T
(a) == () T &war o gfd Hergeiterd, waiewe & gfd fear geikia
(b)  SAIATRA (ii) ifeher HaE M
(c) Trame® TR (iii) T, aviE, fea-ve iR em@m
(d) TIEIH (iv) G, T E hEAT AR TEA § Il A
(1) (@)-(iv), (b)-(iii), (c)-(ii), (d)-(0)
() (a)-(i), (b)-(iii), (c)-(iv), (d)-(0)
©B)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
4)  (@)-(iv), (b)-(ii), (0)-(), (d)-(iii)

Lata sells tea at 5.00 am. She then goes to fetch water from a far away well. After reaching home
she cooks food, washes clothes, cleans the house, sweeps and then goes off to purchase items for
her tea shop. All this can be referred to as :

(1) Housework (2) Paid work (3) Care giving (4) Double burden

A1 GIIE 5 IS T I €| 3T IS 98 Igd X FU F I SR RN € | IR TG h INE I @M S
2, IS Ul T, R I TEE I 8, S-S HIA 1 IHb YA I8 AT I Ht M o oI WHAM
G FX A B 1 3T G AT bl HEl S HTehdl © |

1) TEHE ) T e () @A FE (4) <RuEE
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78.

79.

The Constitution determines the relationship among people living in a territory called citizen and
also

(1) relationship among people and government
(2) relationship among neighbouring countries and government

(3) relationship among people and corporates

(4) relationship among neighbouring countries

Hiay™ T &9 H w9l all % s ANReR T ey fHuiia wRar € eiR uw o
Tl oar 1

(1) <ril iR TR & o= oy
(2) TS TE SR WHR & A= day
(3) @rl iR FHufl & o= Hey

(4) TS W % S "oy

The National Medical Commission’s Code of Medical Ethics states that every physician should, as
far as possible, prescribe drugs which are called :

(1) Generic medicines (2) Ancient remedies

(3) Genetic medicines (4) Global brands

T fafeaa st =t Tafera = Higa & %e 7 ® : Yo fafercds o1, Sl 9o v 81, 7 ganei
1 THuifa e =nfen S el © ¢

(1) SHRE gaEar (2) W 3TER

(3) TafvIR TaEar (4) dfyae sig
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80.

81.

A large number of people in rural India who are landless, although their main livelihood source is
agriculture are called as :

(a) Marginal farmers (b) Migrant labourers
(c) Agricultural labourers (d) Small farmers
Choose the correct option :

(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (a) and (b) only (4) (b) and (c) only

TTHIOT 9RT T oS §E&A § S A YA €, ok Seh! Stifaeht 1 & &d i T, Hedd © ¢

(a) T foRem (b) Ve T Ao
() Fla 7o (d) B fam

e foeheq &1 =F H |

(1) e (a), (b) 3 (o) (2) e (b), (c) 3R (d)
(3) o (a) SR (b) (4) o (b) 3R (o)

Which of the following resources are relevant to discuss the theme “discrimination” ?

(1) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning to
India.

(2) Advertisement of a woman washing clothes in a commercial.
(3) Text of Ashokan inscriptions.

(4)  Universal Declaration of Human Rights.

‘v’ fawa W == e o fou, fefataa 8 9 sF a1 d9ee i © 2

(1) 3R, IR F IRA clier % TLEE @ o T G o STal T gaid
2) T fommoe # #Ug o7 T Afgen H i

(3) 3T < SAferd@l @i fafd

(4) HAMFETERRT S dfveae =
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82.

83.

A teacher wants to divide 30 students of her class in small groups for a task on diversity. Which
will be the most relevant way to make small groups of students ?

(1) According to students marks in last exam from high to low
(2) Heterogenous random groups based on a game
(3) As per students comfort

(4) Benchwise from front to back

fafaud foma R %/ <3 ¥ T TeAfeRT 319 el % 30 faenfof #1 Be-sie wEl # die 9% Wi |
Frefafea § gqe fafor &1 wiF-a1 T ged 3fad g ?

(1) foenfer = fosel aiian | o11Q feni o =ed A |
2) faum g aue st fadt e W smenfa &
(3)  forenfefar =it gfawrgam

(4) ST ¥ 9 o A | Sed ok A o STIER

Which of the following provide scope to develop critical thinking skills ?
(a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?

(b) What is the purpose of press conference ? How does the press conference help you get
information on what the government is doing ?

(c) Differentiate markets with illustrative examples.

(d) Itis necessary for the civil servants to be politically neutral. Explain.

(e) Availability of water is a major factor affecting the settlement pattern. Discuss.
Choose the correct option :

(1)  Only (a), (b), (d) and (e) (2)  Only (a), (), (d) and (e)

(3) Only (a), (b), (c) and (d) (4) Only (b), (c), (d) and (e)
frefafed # @S9 st o Hie S faeiad S 1 STo YeH &l § ?

(a) TIESRMEE H YiTet Il JoR e | A1 3 a1 fgent 748 ?

(b) FH A 1 N FASE § 7 TR A W § 39 W YET I F H I gt vy (R TeR)

SATYhT TETIAT Lt & 2
(c) Tt qmRTul o WY AERI H S Hif
(d) TH A-Ha% & fau 7 emaws § o a8 UsHifas 9 9 7o 3| Sare & |
() TC1 Tl SUCTSUT St FFAEY bl FUId LA 1 Teh G&T HRb & | == i |
TE forreq &1 == &L |
(1) &= (a), (b), (d) ¥R () (2) I (a), (), (d) 3 (e)
(3) %9 (a), (b), (c) ¥R (d) (4) e (b), (<), (d) R (e)
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84.

85.

86.

Fundamental Rights and Duties of Indian Constitution are written on the walls of social science
classroom. This will make children learn primarily through

(I) Memorisation (2) Reasoning (3) Observation (4) Imagination

e He H FIR R ARAT Gfaem § 3 Hifersd SR iR wdedi &1 famn T #1 a% s=d #
Te@ra: F g fa@m g1

(1) € (2) Th (3) STEdERA (4) Ul

Which method would you use to collect information about the actual and correct status of
earthquake victims in your area ?

(1) Project method (2) Problem-solving method

(3) Inquiry method (4) Survey method

319 3194 &1 & yehy difed =afeqi st arfoes 9 w81 feafd o sk o SR Tt 37 o foe fora fafy
T FINT 4 ?

(1) ufEs fafy (2) wHE-gHYH fafy
(@) WreEH/gEds fafy (4) wagw fafy

According to Indian Constitution this kind of reservation is not a violation of the right to equality.
(1) To ensure jobs based on nepotism.

(2) To give jobs to close kith and kin of political leaders.

(8) To give special treatment to someone in order to ensure equal opportunity.

(4)  To ensure jobs to people from States where an elected representive or Minister comes from.
IR HGHH % STTER 39 JHR I STREI0 GHFT o SAIHR HT Scets & ¢ :

(1) TE-9dISTaTe & MR W AR GiAfead H |

(2) TSHaIST % T GeiferE i ARET S |

(3) AN TaR M= & & fag frdt & e fo¥i Saer 1= |

(4) o= Tl & wafafy an @i g7t o € 39 To9i 6 Anl Bt JAreRfeEr < |
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87.

88.

Read the Assertion (A) and Reason (R) statements carefully and choose the correct option of the
following :

Assertion (A) : Values can be taught, too.

Reason (R) : Social studies is a subject through which all basic values can be taught.
(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are correct and (R) explains (A).

(4) Both (A) and (R) are correct but (R) does not explain (A).

IR (A) 3R HRUT (R) 1 FEuHES Ifgd iR frafafaa § 9 wdt fawen g -
ifieRe (A) : e od Ted o 5T R €

HIT (R) : gk foam o fomg © fomd asft SRy Joa ved 5 wehd € |

(1) A)W%ﬁﬁ ) S T |

(2) (A) TN (R) S FA § |

3) A)SﬁT(Ra'FﬁF%:T%SﬁT(A %I (R) SAAT LT B |
4) (A) 3R (R) IH T € AR (A) Fl (R) TS 7TE Ll T |

Which of the following should be considered as gender neutral atmosphere in a school ?
(a) A group of girls are making Rangoli

(b) A group of boys are volunteering in annual function.

(c) A group of girls are preparing for dance competition.

(d) A group of boys are arranging refreshments for guests.

Choose the correct option :

(1)  (a) and (c) (2)  (b) and (d) (3) (a)and (b) (4)  (b) and (c)
Frfafea § 9 s-4t feafa fore fammem o ' fon’ qevy s 1 3eme § 2

(a) <Te(RAT F Tk T gN Tiiell AT

(b) TTSHI % LGN Afehicqd H 7 KTl

(c) TSIl & T g T TNl St TR AT

(d) TTeHi & GHE g Afafusl & fot S sl e we

& ferened o1 == |

1) (@7 () (2)  (b)TEm(d) (3)  (a) @ (b) 4)  (b)T(c)
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89.

90.

A Social Science teacher asked students to make rules for their class. These were then written on
a chart paper. All the students gave their consent to follow these. The chart paper was pasted in
class, so that it can be referred by the students. This can be an introductory activity for which of
the following topics ?

(1) Democracy (2) Markets (3) Diversity (4) Marginalisation

ST fo=m =t faifersht sail =l 319t kel & g f7om oM =61 hedt §, oI 3 a9 T 9 TR W
forg Sma €1 |eft st 37 FIwi & e St "Wenfd <d €1 I 91 el § fauent e S 7, aife o g9
e & R R yI0 H o weh | 39 Wifafafy &1 fr=1 § § fohw "y #1 ugm ?q IRfves nfafafy & &9 §
foren < Hehar €2

(1) vm@as (2) ¥R (3) fafaea (4) IR

The purpose of diagnostic evaluation is to :

(a) obtain information about learner’s characters

(b) get to know about the knowledge students already possess
(c) classify learners into categories

(d) to assess the learners

Choose the correct option :

(1) () and (0 (2) () and (b)

() (a), (b) and () 4)  (b), (c) and (d)

FTfeh Yeiehe o1 YIS 3T ¥ :

(a) Torenferi o &Il o o H FEAT 9 Kl
(b) Teenferi o qe I & I H S

(c) Tornferi s AfvRdl | afieha e

() Tomnfert = stfean

et foshed =1 == |
1) (d) R () (2) (a) ¥R (b)
3) (a), (b) 3 (c) (4)  (b), (o) ¥R (d)
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions (91-99) that follow :

1.

91.

92.

93.

On 15 January 2009, several interesting things happened. A plane crash landed into the Hudson
River, right in the middle of New York City. The pilot, crew and 155 passengers escaped safely.
But then, something else happened... Jim was nearby and watched the event happen. He
immediately tweeted that he had just seen a plane crash in the Hudson. From there the news
spread quickly. People contacted him immediately and asked him what was happening, and
other people on the street took photos and videos with their phones and posted them online.
Ordinary people suddenly became journalists. It was 15 minutes before the news broke on official
news channels.

Photos, videos and tweets from ordinary people at the scene of dramatic events now provide the
words and images that describe events in the news. When a meteor exploded over a Russian city
in 2013, millions of people around the world watched videos and photos of the event on Facebook
and YouTube. Social media can also save lives. In January 2010, an earthquake hit the Caribbean
island of Haiti. The government said that there had been an earthquake, but they didn’t give
many details at first. Meanwhile, people living in the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and telling the world that it was an emergency and
houses were collapsing. A local radio presenter used this information to help people find family
members, and people even phoned his program to ask if their relatives were safe.

News travels fast on social media, but false stories spread just as quickly as the truth. Some of
these “facts” are erroneous, others are deliberate hoaxes. Hoaxes remind us that not everything
people post and publish is reliable. But social media can change our lives for the better.

News on social media :
(1) are deliberate hoaxes (2) are insignificant
(3) are reliable (4) travel fast

Read the following statements :
a) A plane crashed on 15 January, 2009

(

(b) 155 passengers escaped, but the pilot lost his life.
(c) Jim, an onlooker, posted pictures on Facebook
(1) (a) is correct, but (b) and (c) are incorrect

(2) (@), (b) and (c) are all incorrect

(3) (a) and (b) are correct, but (c) is incorrect

(4) (c) is correct, but (a) and (b) are incorrect

The meteor explosion in 2013 in Russia was watched by people on :
(1) All social media handles (2) Facebook and YouTube
(3) Twitter (4) YouTube
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94.

95.

96.

97.

98.

99.

Identify Parts of Speech of the underlined words in the sentence given below :
‘But social media can change our lives for the better.

(1) verb, adverb (2) noun, adjective

(3) noun, adverb (4) verb, adjective
Complete the given word analogy :
dramatic : exciting : : hoax:  ?

(1) example (2) excuse (3) media posts (4) deception

Arrange the following events as mentioned in para 1 in the correct sequential order.

(a) Jim watched the crash and tweeted.

(b) People started contacting Jim for updated news.

(c) A plane crashed into the Hudson River.

(d) The news of the crash was broadcast 15 minutes later.
1) @ - (© - (@) - (b)

2 ©— (@) - b) -

() (©— b)) - (@

@) (b) > (©) = (@) > (d)

‘Some of these facts are erroneous’. The antonym for the underlined word in the given sentence
is :

(1) invalid (2) surprising (3) faultless (4) inaccurate

Why should we not take news on social media lightly ?
(1) They can change our lives for the better.

(2) News posted are hoax and confusing.

(3) The facts are erroneous.

(4) Strangers can call you to seek information.
Ordinary people suddenly became journalists means :
(1) they started contacting Jim to know the details
(2) they left the jobs where they were employed

(3) they started posting news-bits pictures and videos on social media
(4)

4) they headed towards media houses to seek employment
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Read the poem given below and answer the questions (100-105) that follow :

100.

101.

102.

103.

104.

105.

Great, wide, beautiful, wonderful world,
With the wonderful water round you curled.
And the wonderful grass upon your breast
World, you are beautifully drest.
The wonderful air is over me,
And the wonderful wind is shaking the tree,
It walks on the water, and whirls the mills,
And talks to itself on the tops of the hills.
You friendly Earth! How far do you go,
With the wheat-fields that nod and the rivers that flow.
With cities and gardens, and cliffs, and isles,
And people upon you for thousands of miles ?
Ah, you are so great, and I am so small,
I tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,
“You are more than the Earth, though you are such a dot,
You can love and think, and the Earth cannot!

The wind in the poem talks to :
(1) clouds (2) hills (3) itself (4) trees

In this poem, the poet describes the :
(1) beauty and vastness of Earth (2) life in the cities
(3) the Earth, its present and past  (4) the plants that grow on the Earth

What does the underlined word refer to ?

‘It walks on the water, ...
(1) wind (2) Earth (3) river (4) grass

In the line, ‘with the wonderful water round you curled’, the word ‘curled” means :
(1) mounted (2) turbulent (3) arched (4) surrounded

Identify the figures of speech in line 1 and line 4.
(1) alliteration, personification (2) simile, alliteration
(3) anaphora, personification (4) alliteration, metaphor

List the 3 different things (in stanza 3) found on Earth that make it great.
(1) wheatfields, trees, whisper (2) cities, grass, mills
(8) rivers, gardens, cliffs (4) isles, oceans, people
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106.

107.

108.

109.

110.

111.

The impact of tests and assessments on teachers, learners, and materials is called
(1) Classroom effect (2) Reinforcement
(38) Corpus effect (4) Washback effect

Match the language teaching methods in Column - A with their understanding or related activities
in Column - B :

Column - A Column - B

(a) Communicative Language Teaching (i) Socially acceptable and contextually
appropriate language

(b) Direct method (i) Silent reading

(c) Grammar Translation (i) Written literary texts

(d) West's New Method (iv) Grammar is taught inductively
(1) (a)-(id), (b)-(i), ()-(i), (d)-(v)

(2)  (@-@), (b)-(), (0)-(iv), (d)-(iii)

(3 (@-@) (b)-(v), (o)-(iti), (d)-(ii)

) (@-(iv), (b)-(i), (c)-(iid), (d)-()

Which school of learning believed that language, whether verbal or non-verbal, takes place through
the process of habit formation ?

(1) Cognitivist (2) Interactionalist
(3) Functionalist (4) Behaviourist

A language teacher brings everyday objects such as newspapers, menu cards and train tickets to

teach the students of class V. What is she doing to make learning happen ?
(I) She wants her students to learn English through real life like situations.
(2) She is creating awareness in the students.

(8)  She is using authentic materials to make her teaching more realistic and useful.
(4)

4)  She is trying to help her students to learn multiple languages.
Which of the following statements is NOT true about languages in India ?
(1) Sanskrit is a Modern Indian Language.

(2)

(3)  According to the Indian Constitution, English is an Associate Official Language.
(4)

Hindi is the lingua franca of the Indian sub-continent.
According to the list of Eighth schedule of the Constitution of India, there are 22 languages.

Multilingualism in India intends teachers to understand :

(1) ‘alanguage’ policy should be framed in a diverse society

(2) language, identity and culture are separate entities
(3) communication happens, and social cohesion is maintained
(4) minority languages should be clubbed with dominant languages
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112.

113.

114.

115.

116.

117.

118.

119.

120.

The time and place of the story are called the .
(1) Plot (2) Climax (3) Theme (4) Setting

Listening involves :
(1) using prior knowledge of the subject

(2) recognising sounds and deducing the meaning from it
(3)  hearing the sound, decoding the sounds as they are
(4) guessing the content

Which of the following is NOT an important factor in planning a listening lesson ?
(1) Gender of speakers. (2) Number of speakers.
(3) Pausing the recording. (4) Speed of delivery.

Which skill of language is known as receptive skills ?
(1) Reading and Writing (2) Listening and Reading
(38) Listening and Speaking (4) Speaking and Writing

A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What
among the following should be objective of the lesson ?

(1) To introduce the text about a holiday destination

(2) To develop critical thinking
(3) To acquaint the learner with the lexical items
(4) To familiarise with the grammatical items

In a language class, students form groups under the guidance of a teacher and present an
advertisement on a given topic. Learning a language in this way is called

(1) Language games (2) Guidance and counseling
(3) Collaborative learning (4) Competition and rivalry

Linguistic function such as intonation, tone, stress, and rhythm are known as :
(1) Phonetics (2) Pragmatics (38) Poetry (4) Prosody

In a language class, a teacher asks a group of students to act as purchasers, property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. This
activity is called

(1) Acting class (2) Guidance (3) Roleplay (4) Drama

Schools should follow additive bilingualism because it :
(1) promotes the child’s language but not the culture

(2) hinders the development of the first language
(3) values the culture and language of the child
(4) gives importance to teaching English as a second language
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R - IV
YT - 1 : f&=<
WEqul : THanedl WIT-TV (WH. 91 9/ 120 ) & TA1 6 IR kol a+ft § I 38 Wrer-1 1 foered
e g e

fadyr : <= feu T TrEYT Y Ut OB T weAl (WH. 91-99) % WaW SuIe ST ATl fashed Y ST

e Fea TS o1 FRARA YoM a1 81 9% Wifecd $iR THIS &1 T84 Hoy & ¢ fo wifec § 9ot &
fasjafera g fagidl 3R ged-foea et st foar ater ot &l €1 ot Wifec H1ell o SEA hl AeeHhs, ST
el | W S Hrerstd 9 T §, T A Ted i AT 8 IR GagAietl o e ST S hl T
| THI-G9F W GifecThRi § TS % dSaR B i fearfd 61 g9 €1 $9 TR SAR Hifee vt I Ut
Telt BTY BIS W &, TSR Tawdehal & I H o1 et §, FSh faam Tea aRiamsn & & € IR et A
AN 1 S A HT e et gerdt €1 37 e SAfaad saa gt s & T8 i e
T § favame o1 SeTy W@ i I T ¥

91. ‘U % &R BH i feufa’ amer H Ywiferd vreg 1 319

(1) sfes qu () TEN (3)  fyEr (4) oA
92. TRINY % STIER Wifed H fohe TE i FoaT stererd! 2

(1) ¢ fagm=il & o & (2) TSR e

(3) TE % YR T Ht 4) WA & fa@e &

93. HIFA-HI Wfecd sl Hfecd o7 Il © ?
(1) Sl AT & St AR H (2) s forerd fagril =t fadr X

(3) S UIShI T HARSH L | (4) S GHIS 1 Y0 R |
94. ‘fovama’ weg w1 AL

(1) doFE Geief (2) =@ aron

() Tz 4) fowa @ geifud fram
95. ‘fasafed’ & @ © -

(1) =a 2) wfed () fea @4)
96. WIfeEsRI 4 THIS i ford fearfa =t va=m &3 =1 yarw foran 72

(1) Sasie qH s (2) forean g3t 9

(3) fahE it AR SR TS (4) TG T AR A g THS

97. ‘e’ § qead §
(1) e foRiY &l T AN HA B (2) 3779 FIA qh & ol |
(3) i e fodr H s gam A | (4) TWH H YT 2
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98. T e & ARl I TewTHd T T H o Tl § ?
(1) < FE i Afqe oA ¥ | (2) ST TE T T w
(3) SN THS I SFTES H ¢ | (4) ST TEN S TS F F |

99, THW I TIfd B Y FHIAT § ?
(1) e (2) wie @) fomm (4) deketent foreRrd

Frefafaa Tensr &t ugewt U9 T U9l (T.H. 100-105) & HeH ST I ATt fqehed s T
feaqmEE™ 1 994,
Ao STEAM ¥ 3 & 7
T FeA Gt T
Y- XY |
fafti=e & ==erar &1 T8 HE T,
YT 7YY & ST 3Tk STER-
Tohg w1 TR TET € 3T Bre-faam™
U1 € dl el a0 T
T[T g7 S TERTeT hicl-hTel Sl 9
TEATS ! T 1 8 Ll © STTEH |
100. Te Gt fohd e & STHTT 9 3R W 7 2
(1) =g ! ALH | X AR 9 (2) T feas | A9 TR 9§
(3) ORI WX AT | (4) dcEl ¥ W TR 9

101. ‘TSI i U fohaeh fore wged gem § 2
(1) ¥ 2) fafr (3) ™ (4) AR

102. ‘feagredm’ o Gfy fawg ©
(1) feerEr+emH ) feom+amemE (3) foom+saEm (@) foEn+ereEH

103. TS § fohe o1 fasor gam €2
(1) o (2) YHEE F (3) THfA (4) STl &

104. ToFHer 9 1 o1 &1 TE § 2
(1) gen (2) AR (3) ™ (4) ™

105. TS H foRE 3TeiehR o1 T 21f¥es gafia & 2
(1) IHh (2) AR (3)  sifaemEfe (4) AIH

106. 31eAT9ehl, Toranfefa ot Tt 9t 32 Ud 3Teheld Skl Y6 R Shgelldl ¢ 2

(1) eI g (2) gse
(@) fafa guE (e stheR) (4) T TETOT BT YTE (SRR ThHaE)
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107. e A H wron freqor fafeai € iR shie B # Seh! wwer o1 Heifera nifafafus €, faem i

108.

109.

110.

111.

112.

113.

HicH A HicH B
(a) EEITOTCHa T ferator (i) ISR €9 ¥ Widhd iR Ted & STET 9T
(b) v fafy (i) HMF T
(c) AU 3TA] (iti) ferfed wfefcaes
(d) TR (West's) &l e fafy (iv) AR ohl STRTHATH ik § TGHI
(1) (@)(iii), (b)-(1), (c)-(ii), (d)-(iv)
(2)  (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
G)  (@-(), (b)-(v), (c)-(iii), (d)-(ii)
4)  (@)-(iv), (b)-(ii), (0)-(iii), (d)-(0)

ARATH A1 -9 Ad 39 o1 | fogard Waar ¢ for Aifaess o emifaes e a1req fmior st ufsean o wream
T A B2
(1) AR ) T fRaTTERar

(3) SUAMTATETE] (HeRMITR) (4) HIRRER! (fasfaaie)

eIl Ui i W1 37eATeh 791 shen § wron e & forw gfafeq e goer <t amnl S fo gammTs,
WS difetert 37X Y& 9 & fewme anfe @t §1 o sifenm & fo oon vt @ 22

(1) =% =t § for 3ueh faeneff e =it arafaes feafaai 4 ot ¥

(2) o faenfi o STEwHT A Aed §

(3) % e 1 IR Siferk aTedaes qe AT I % feT yrefores W R W R R

(4) 9% o faenfofa ot agfay wmmd diee & Heg 9 W R

IRA T e o o H H-H HUT T TE © 2

1) Upd STMYfeh IRATE o §

2) TEE YIRd 39 HeTga i e amen (e W) §

3) YRA % HfGYM % STIHR SIS T8 qShid oI 7

4) 9RA & HiGH™ ® S YT F STHAR-22 Wl §

(
(
(
(

IR B FguTare & Hed H o7eAmush & o s wwer Sed © 2
(1) fafaua @ s | T v’ = fifq s =

(2) wm, AfE iR Hepta A T sifdae wardt €

(3) TEIYOT & WIS TG Tenfud gt §

(4) TCIGHEIH TN ! Yerenedt Jronst # faen < =nfew

fordl oft shert ol THY 3TR ToF RN el ¢ 2
(1) HIFF () (2) FEHa (3fd@) (3) o™ 4) fén
gaor H 1 e & 2

(1) fawa & gd I 1 T BT
(2) A * UEEE w IR S e e
(3) a1 g, ettt St €, aegER femie
(4) foawFeasg o SR H STIHE I
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114.

115.

116.

117.

118.

119.

120.

et gao § St wfafafy st deHT A0 T9F HIF-91 HRE Hewqul & ¢ ?
(1) SIS 1 SiweX (Ser aTel dfeet § a1 7o)

(2) SIS S HEA

(3) Temifén =t ofrer @ Jhen (Uit <)

(4) S ot

TS % A H HIvIA TR HIA © 2
(1) e 3R eEA (2) FEu SR A
(3)  Fau iR S (4) e SR TEA

Teh 1LY A oedl ol TeNe ¥ e vseduel ¥ uRkfed wi- o & fear| 59 e &1 91 3299 e
=fee ?
(1)  STohTSl & SRH HEl ST 9 Heifed gree et § afifed sweam

(2) FHEEEAHS THad faesfaa e
(3) Teranfef=ri nt srer fororer wrlt 9 9Rfed sweam
(4) AERIIE TR ¥ IR e

T ST hel § faenedt e o fHevH # 9g IRt fou T 2iftes T Teh fome wega oh3d © | 39 Tk
T T EEAT 1 Hedd § 2

(1) R = 2) A iR s

(3) TR ATy (4) ufaafar SR wfagfga
TN hTd ST TR, M, sierend TR o9 bl 1 hel ST ?

(1) =F=ATcHHdl (2) SRIEH AR (SHfER)
(3) HA (4) SMEA

ST Y el H Ueh 31eAT A fonfoll % U WHg @l UEwh, Wael SieR, HehHieieh IR fHRUIER
AT FE & AU wer I 9 foenfeli @ et fo 39 fyg 1 <@ 3R aafaT &1 3= of | 39
Tifafafe skt R kel Sem ?

(1) 3T T Fem 2) frdwm

(3) Tt (4) 3w

foreneral =l AN fgHTSTeTE 1 STIERUN AT AT Hiifch I8
(1) <= 1 9T 1 A1 YA LT § T SThT GEhid hl Tal
(2)  H¥9 9T % faehr § sTeRlY Ut s ©

(3) I I TEHq IR o1 A WE < ¥

(4)  STIS fovaor &1 fgdta w0 % €9 § WeE Sl ©
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions (121-128) that follow :

1.

121.

122.

Chocoholics no longer need to feel guilty about their desire for chocolate. They are simply the
victim of the genes, scientists have found. The so called “sweet-tooth gene” has been identified by
separate teams of researchers and helps explain why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods. Children, in particular, risk their health by eating too
many sweets and chocolates.

To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste
receptor recognises the sweet content of food and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He further added, “The same gene exists in humans, so it

means that if your parents have a sweet tooth then you probably will as well”.

He said, “We have always known that some people have a sweeter tooth than others. But it has
also been proved that if you are gradually exposed to less sugar, then the body becomes accustomed
to less. They will be satisfied with a lower level of sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate the sweet gene. “We have produced this gene through
evolution because sweet foods in nature are not poisonous, they give us energy. We all need to
have some sugar in our diet,” claim scientists. US researchers are using this discovery to develop
artificial sweeteners without any after-taste.

Having a sweet tooth means :

(1) teeth being sweet to taste

(2) teeth becoming decayed due to sugary food items
(3) buying sweet food items from shops
(4) Dbeing fond of sweets and chocolates

Doctors are not in favour of gene therapy because :

(1) People will feel guilty after going through it.

(2) It will enhance sugar levels in the body.
(3) Sweet foods give energy to the body.
(4) Itis poisonous.
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123. According to doctors, sweet foods are :

(1) poisonous (2) deactivated genes
(38) dangerous (4) energy boosters
124. The phrase ’. . . . initiates a cascade of events’, means :

(1) signals given to the brain
(2) to start a series of occurrences
(3) to put a stop to orderly events
(4) to halt and hinder sequential events

125. Read the statements given below :

(a) Doctors have favoured gene therapy to control sweet gene.

(b) A sweet taste receptor recognizes the amount of sweetness in food.

(c) Heredity factors have absolutely no role to play in inheriting the sweet gene.
(1) (b) and (c) are incorrect, (a) is correct

(2) (@), (b) and (c) are all incorrect

(3) (a) and (c) are incorrect, (b) is correct

(4) (a) and (b) are incorrect, (c) is correct

126. ‘Chocoholics” are people :

(1) who are fond of chocolates

(2) who are makers of chocolates

(3) who hate chocolates

(4) who enjoy both chocolates and alcohol

127. Identify parts of speech of the underlined words in the given sentence :

‘Doctors warn against any form of gene therapy which seeks to deactivate the sweet gene’.

(1) preposition, noun (2) conjunction, noun

(38) preposition, adjective (4) adverb, adjective

128. Complete the given word analogy :
accustomed : habitual : : initiate : ~ ?

(1) start off (2) hinder (3) halt (4) complicate
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Read the passage given below and answer the questions (129-135) that follow :

1.

129.

130.

131.

132.

133.

Every now and then we would speed through a village lined with waving Tibetan children. Their
villages looked wonderful and so inviting that Dorje was not showing any signs of slowing down.
Small clusters of single and double storey buildings with walk-in courtyards jostled together in the
foothills to gain maximum exposure to the sun. The houses looked solid, built for the harsh
environment. Walls are made up of stone to waist height and finished off with mud bricks to the
roof. Tin cans lined the window ledges, with the bright orange of marigolds in full bloom livening
up the black-and-white of the houses.

Branches of trees adorned with colourful prayer flags stood high into the wind from the top of the
flat roofs. The auspicious blue, white, red, green and yellow colours of the fabrics stood out against
the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelled dragon
horse, who carries the owner’s prayers up to the divine every time the flag flaps in the wind.

The larger villages have healthy trees, usually willows or poplars which look quite out of place in
the generally treeless landscape. Wood is a precious commodity in the highland areas of Tibet and
isnever wasted. The few shrubs which grow wild on the hillsides are harvested for use as brushwood
and each courtyard wall is piled high with sticks gathered from the mountains to get a fire started.
The lack of solid fuel in the shape of wood is not a problem for the Tibetans, who have an ingenious
wood substitute : yak dung.

The phrase ‘courtyards jostling together’” implies :
(1) being one on top of the other (2) being in close proximity

(3) being very far apart (4) Dbeing in different sizes and dimensions

What aspect of Tibetan houses as described in the passage is incorrect ?

(1) Roofs are made of mud bricks.

(2) They are solidly built.
(3) Walls are made of mortar and cement.
(4) Tin cans line the window ledges.

Why do the willows and poplars look absurd in the landscape ?
(1) Because the landscape is generally treeless.

(2) The other trees camouflage them.

(3) They are stunted shrubs.

(4) They have minimum branches and leaves.
Complete the given word analogy :

precious : valuable : : ingenious :  ?

(1) genuine (2) practical (3)  theoretical (4) inventive

Yak dung is used by the Tibetans as a substitute for :
(1) fire (2) wood (3)  buildings (4) marigolds
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134. Read the following two statements :
Assertion (A) : Wood and sticks are piled high against the courtyard walls in the houses
Reasoning (R) : Wood is found in abundance across Tibet
(1) (A) and (R) are both incorrect
(2)  (A) is correct and (R) is the reason for it.
(3)  (A) is incorrect, but (R) is correct
(4) (A) is correct and (R) is not the reason for it

135. Identify the underlined words in the given sentence :

The lack of solid fuel in the shape of wood is not a problem for the Tibetans.

(1) noun, noun (2) verb, noun
(3) noun, adjective (4) adjective, noun

136. India’s language in education policy (Three Language Formula) attempts to promote :
(1) Bilingual education with the focus on Hindi

(2) Mother-tongue based multilingualism
(3) Multi language education
(4) Monolingual education

137. What is a short story which has animals as the main characters and teaches an explicit moral
called ?

(1) Science Fiction (2) Travelogue (3) Fantasy (4) Fable

138. Which of the following statements are correct ?

(a) Dyslexia is a reading disorder.

(b) Dysgraphia is a writing disorder.

(c) Dysgraphia is a reading disorder.

(d) Dyslexia is a writing disorder.

(1) Both (a) and (b) are correct (2) Both (c) and (d) are correct
(3) Only (a) is correct (4) Only (b) and (d) are correct

139. Rita, a government school teacher, uses visual devices and language games to teach English to
class VII students. Which principle of teaching is Rita applying ?

(1) Principle of motivation and interest

(2)  Principle of correlating with life

(3)  Principle of natural process

(4) Principle of practice and habit formation

140. What is NOT true about top-down processing ?
(1) Listeners make use of the knowledge of the world

(2) Listeners need to understand every word
(3) Listeners rely on their background knowledge
(4) Listeners make guesses about the intended meaning
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

Which tool is not ideal for formative assessment ?
(1) Project (2) Class presentation
(3) Assignment (4) Paper pencil test

Assessment done throughout the teaching-learning process to clarify student learning and
understanding is called

(1) Assessment in learning (2) Assessment as learning
(3) Assessment for learning (4) Assessment of learning

Learners should be exposed to language, and errors are evidence that learning is taking place is
advocated by :

(1) Humanist (2) Psychoanalyst (3) Behaviourists (4) Cognitivist

Creativity in language education is :

(1) classroom activity using new methods of teaching.

(2) classroom material using communicative language teaching.

(3) open-ended classroom tasks which allow for different interpretations and answers.
(4) merging elements from different subjects to understand something.

Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?
(1) Television (2) Padlet (3) Textbook (4) Railway ticket

What is NOT true about errors in language learning ?

(1)  Errors are crucial aspects of the language learning process.

(2)  Errors help to understand the process of second language acquisition.
(3)  Errors hinder the language learning process.

(4) Errors are not always bad and help in learning.

In a second language class, a teacher played audio on ‘Health is wealth’. He then distributed
handouts and asked the students to tick the correct answer from the given option. The objective of
the lesson was to enable the learner :

(1) to listen, to analyse the ideas (2) to memorise the lesson on health and wealth
(3) to hear the lesson on health (4) to engage the learners with a task

When is International Mother Language Day celebrated ?
(1) 215t February  (2) 13t April (3) 1% January (4) 14t February

Identify the type of email you would write if you were writing to a colleague who is your friend.
(1) Business (2) Correspondence
(3) Informal (4) Formal

Using everyday objects to teach language is called
(1) Teaching aid (2) Text
(3) Realia (4) Language games
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-V

yIer - 11 A=Y

WUl : ThEmel Y-V (WE. 121 | 150 ) & Tl & W haa a+ft § Afc I HTer-11 1 forred

et g e

frrcer : i feu 77T TTEITYT R UGt U T UYHl (.. 121-128) o HaH USRI aTct fashed ahl T :

et = o =<t famha fewrd €1 =afe & @R 9R Tor Sue ferrd 89 9 € Y e § | 5w el U

Thefer s € STl 7 ot Sfrd St § 3R 7 heft 3R % I BT TS AR gt § 1 el o e g 9t et
B ¥ 1 W il 1 veaH 71 © T o foasga ey, faciget shit 2t 81 Ared s i1 Ul 9eaH 7% §
or o 30 o1 ! foa1 el e foh TuRn e o AN SUS TR B I A W | STSH-US S ST Jel,
g TR S 1 M g1 Sl o 39 91 1 ScAeHt T A1feT e At 21eR Tell ¥ 7, 9 R 9 o

fora T |
121. ‘fama’ &1 279 ©
(1) forsrmn (2) va (3) = (4) EiRfa
122. ' 3TSG-TSI 1 TEH T’ § F1 SATYIH § 2
(1) T % R et s (2) ok fed <@
(3) T T-aTT TR FA | (4) 319 TSI T A W
123. 8 701 % 9 | AfF & IR 1Rt 707 Ta: 7 2 § 2
(1) dam 2) fT=rue (@) g (4) wEH
124. TSt o fFE & & 91 1 TG ! o1 Hel T § 2
(1) fEd e € | ) oo el o g A
(3) o faar & 4) fodgudged
125. GEE T i Tl Yl Tea o1 © 2
(1) wensti | & e ¥ (2) W % WrE h TR T BT 2 |
(3) % U AT Fgdl S ¢ | (4) wgd fre )
126. Tefer § o9 ae S @ ST ©

127.

128.

P-11

(1) el ! AT 7 I a1l AN | (2) Sfed ¥ 9Rem & Al |
(3) foaem &R s1v@ § SH Al @1 (4)  STE-TOSE o ST9d 9 W AT

‘e’ ® wgea Syert (1 @ etela oo €

(1) ea (2) wfed (3)  sfaeRd (4) 9@

yfa’ 9 A T

(1) w= A (2) Hem oen (3) Tl (4) Y@ o
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fdr : < fau 7T TN R UgeRt U T Al (W.H. 129-135) o W SUE ST aTet faehew sl ST

AT & TS i e feAfad & Tifia | Hifia Siiaq sl 3THA $RIeX €| Hiid Tehfd Wed shell § 1 ferd
FHersil | Giiidehen ol Hated TIM YT €1 S o offerd shell © TSres g0 799 T ot J1a1sii il wR 3R o™
& HIeH § Yohe hld & | Gk Shell HISHIST! hl Sk il h1 HILAH | EIiid Teh WewiTHe: el & | Gifid <hl
S A W A € 3R AR forw st i go oft Giiia AT § 1 Giia & STl UM % faw g Rl kel
forRfad et et §1 G hael SANT FARSH & Tel hial 31fug oH S&hiiia ff hdl g1 Gid gaR ofiaX &

3TSBTE ol Igfeld Hdl B

129. A I ST i STAHC EUER a1 T4 8, TR -
(1) I8 BN YSH Hl 7 | 2) I HEgAY T
(3) T IS I G LT B | (4) I8 Ui 9S4 B

130. W&IA TS | fRE el o1 ht T § 2
(1) Eird (2) HEh (B) T (4) YA

131. Sd GRT HIEIST Sl Yohe i 1 THE HILH 1 € ?
(1) T, AARR (2) Y=, 9 (3) T, eepfd 4) TR T

132. ‘G’ @ oo ¥
(1) TRUH A | (2) EYUl S H = |
(3) 9t gHl H =) (4) TEA 9E § A1 |

133. Hiiid &8 ford TohR © HEhIRd hidl § ?

(1) Y oTHfed i | (2) BHR HA I 3TSTE hl G AR % |
(3) THNI HARSH ek | (4) Al 1 HIeaH o |
134. Ed % TS &t Wi & forg oo e © 2
(1)  Hfid 1 I B =fey | (2) Eiftdd | vgEH S =fey |
(3) Ylien w3 BT =1feu | (4) G I Shedl Toepfad e =mfeq |

135. ‘Tdtea’ o1 Gfy fa=se €
(1) ¥+ (2) Wa+F=d (B) HA+3I=A (4) G+

136. 9RA i ‘foren Hifq & sron’ (v 931) 68 9= &3 & fore wedt €2
1) et ™ e o <4 g ffies fram

(2) HIGHIHT TR AHTITETS
(3) g forem
(4) T wiftrens e
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137.

138.

139.

140.

141.

142.

143.

I oY AT HI T hedl FT9H g 9 7Y § SR s gedi ol S9Rd ¥ 2
(1) fogm fewm (2) A AT (3)  Thardl! (4) g (HaA)

frAfafed # 9 ®H-9 S T § 2

a) TS dehed (fewifoman) 9o fasR 1

b) orEd deed (fedifran) orem fom 71

) oA ded (fedifirn) wed fowr B

d) Y1 dhed (fexiforaan) orem fasr T

(a) 3R (b) ST Tt § 2)  (c) ¥R (d) SHT W &
FIA (a) TE ¥ (4) ad (b) 3R (d) T &

WHN foanmera &t eteanfueht a1 |raal e & faenfo &1 TSt @M & fou gw U 3iR v e
faardt g1 dar frer & fora fagra o1 STUTe o W@ 2

(1) IfwERon iR &= =1 fagm (2) Sited § Frergdl 1 fHgT
(3) wErfaes fshan = fagr (4) 31w SR aTeq et 1 fag

IS S7e HEt gfhar (270 S189) & IR H 9 TEl T © 2
(1) g o1 HOR & o) § 9 6 61 7490 i §

() T A T v e g E S 3
(3) g 9Tl 319 & 9 R R g ¥

(4) g TS S G GTRd € SHh 9 B STEH o §

T 3TToheT o feTt i1 STl ST el © ?
(1) ufEs (2) HE THARW  (3)  USd & 4) fafed aden

fornferi o srfenma R Twer & wowedr @ o fore e faon stferm gfshen & <R foran ST aer sTehe
ERI

(1) i H sfreReH (2) e % €9 H TReA
(3) At o o sTRed (4) SIETH AT SATheA

“ farenfefat 1 g o i faer =ifen o) TofaEt 39 9a o weg ¥ fF afrm e wi R ae
forger g STRifed § 2
(1) e (2) HATTAYOETE  (3)  TeRREmE! (4) ST
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144.

145.

146.

147.

148.

149.

150.

T FreT ® TETcHRal R § 2

(1) Togror =6t 7elia fafemii o1 9= hid 3T RErE fdfary

(2) EEHYOTCHe 7o fRI8T01 o1 YT Shid U shal |t

(3) Tl T AT HERd Yed Hd et fu=-fire samend & wehdt € oiR fum-fie SR free weha €
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ferden B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheet is ngt folded. Donot | 3 gfereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
e S T St Svottefou Rlo. | o w3 | el e g e e

y P P P ' w1a & 3ifafvad s o ford |
4, I-!andletthe Test Bool:lfet :pd Answerlsgeetté/vm:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
oo Anones e oot ) ot somilvepoves | SRR 3 (ot wdr fiet o e 3 S a1 o
' ' fireetar @t Reifd &1 Bied?) 3 Tdten gRaed! uael ofé werel
5. The candidates will write the correct Test Booklet Code and Number as et
iven in the Test Booklet/Answer Sheet in the Attendance Sheet. , .
g 5. TleT YRsI/3ER U & U U wdlen gRde @is @ FA Bl

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be left incomplete and it should not be different .

ot o 6. OMR 3% w1 3 Bk werw) 31 U wier vl |- gt i

rom the information given in the Admit Card. . . .
oft g siedt 7 BS SR TE YAU-u & & g g A faredt T

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless cqmmunlcatlon devices (evgn in swnched .oﬁ B, sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination AT BT 2 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. qﬁa ° ;E’ﬁ ng siq T i{;ﬁ Waﬂa\q 19T G ST 2

&I 35@' SITUIM, TRIGT g afeal

10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !

. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should not leave the Examination Hall/Room without handing iﬁ é B | K g § wi
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gacalicla URGed &l Juair afeid &1
Bodyw'ith regard to'theirconducFinthe Examination Hall/Room. Allcases | 13, qdter &fa/@ar # 3TV & fow gotemelf uteror wfwem & waft
Ef unf.allr m%ands will be dealt with as per Rules and Regulations of the forra ud et gy erafbra B 3@%‘?[ e B Toft AT BT

xamining Eody. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. el

15. On completion of.tITetest,. the candidate must hand overtl?e Answer | 45 THen T A R, wdemeff ara/mer Eﬂg?r A qgf I 73 erdlere
Sheet to the Inwgllator. in the Hall / Ro.om. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥
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